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�!"� �����	� �� #�	� ������ 
���	�� ��� ����	��
 #	�� 
�� ��$	 ��	 �	�	���� ��	����	
$������ %� � ��
��� �� & ��� ��	 ����� ��	����	 
������� ���� βN = 1.0 �� 3.0� '��	� ��
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�� �� ��������� �� ���
���%�	 ��	 ���	����� %	��		� �	�� ��� �����
�	 ��������� ��� ��	
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�
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	 �� ��	 �!" ���%����� �� �� ��	 ��������� ����	 
����� 	������ ��	 �%�	�$�������
)�	 �	*���	� � ���� �	�	��	�
	 �� ��	 �!" ���%����� �� �	�� �� ��	 �� ��	 �����
�	 ����������
+�����������, �	�� ��� �����
�	 ��������� �	*���	 ���	�	�� ���� �	�	��	�
�	��
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���� � ��� �� -��� � �	��
	� ����'��� ��
��� �� ���	� �	��	�����	� ���	 ���%��	�� ���$	
�� ��	 ���� �� ��		�	� �����	��� �� �	*���	� �� ��������� ��	 ���	 ������ �� �	��� 
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� -��� ��	 	��	���	���� %������� 
�������� �����.+
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��	 ���#�	� �	�� ���
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	 ��	 %	������� �� �	�	��
� ���� ����	��
���� 
��#�	�	��
�	$�
	� ���	 �������� ��	 *�	����� ��� ������ ��$	������	�1 ��� ��	� ��	 ���� ���%	�
�� ��	 ���� ���� A ����
� ��	 �����
� �� ��	 ������2 .��
	 ����	���� ���� *�	����� �� �
������	���� �	*���	�	�� �� ������	� �����	��	 ����	� �� 	��	���	��� ��� ���	����� ����
��	 �����	� ������	� � ��� � ������� ��
 ������ �������� ����� �� �� ��� *���	 
�	�� ����
��	 ��������	 �� ���	�	�� �%�	�$������ 345 
����� %	 	������	� ���� 6��� � �����	 �����
�

��
	��, %�� ��	� �	*���	 ��	 ���	����� �� �������	 �	
�������� )�	 
��
��� 
����	��	 ����
��$	��������� ������	 ���� �	���	� �����
� �� ���� �� 	��	���	�� �� �� 	���	�	�� ��7
��� ��
$��� 6��� ��	 ������	 ����� 
�	 ��	$���%�	 ���	�	�
	� �

������ �� 	��	���	��� ����� %	
���������� ��	 �	�����, ���
� ���	� �� ��7
��� �� *������� ��	 ��%�������� ���� �	�	��
�	�
	� +�����������, ��	 �	�	$��
	 �� ��	�	 
����	� 
�� $��� �	�	����� �� ������ �	���	�

 � 	�	
���� �	��	� !����	 ��� )���
 ������� �� ��� ����� ���� ��	 ���� �	�	��	�
	 ��
��	 	�	
�������� 	*����������� 
�� 
���	 � 
����	 �� 
��#�	�	�� ���	 3�8&5, 6��� 
�������
��	 �	����� ��� �� ���������� ��	 ��������
	 �� ��	 	*����������� %� �	��
��� ��	 �	�����
���� 
����	 ���� ���� �	�	��	�
	� -�	� ��	 	*����������� ��	� ��� ���� � ���	 ��	 
��	
��������� 
�� %	 ����� ������� ���� �	�	��	�
	 395�

 � �����	 ������� ��	 
������� %	��		� 
��	 ��� 	��	 �� 	��	����� �� ���	������ ��	 �%�
�	�$	� ������ ����	� 3:5� -	 ���� ���� ��	 �����	 �	�	���� ����� � ������ ������	 ����
�	�	��	�
	 ��	�	 ������� ���� �	�$�	� ���� ��$	 ����	� �	�	���� ��� ��	����	� 3;8495� <���
�	*�	����, �� 	��	���	���� ��$	��������� �� ��	 
��	 ��������� ��	���� ������ ���� ���
�	�
�	�	���� 
���������� ���	$	�, �� �
��	$	 ���� �	 �		� �� ���	� ��	 �	�	���� ���� �	�	��
�	�
	� =������ ��	 �	����� ���	� �� ��	 ������ 3>, 4?5, ���	$	�, ��	� ���#�	 �����	�� 34:5
��� ��	 ����
���	� ���	� �	��������� ���� ���� �� ��������� ���	 
������ ��	 �	����$	 �	�	�
$��
	 �� A �� �	
�	��	 ��� ��	 ��
	�������	� �� ��	 �	����	� ���� �	�	��	�
	 �� ��
�	��	�
+�6������ ��	 ��� ��	����� �� ���	� ��	 	��	 ���� �	�	��	�
	 ���� ���� ��(�	�
	 ��	 ���%��

��#�	�	�� 3:, 4?, 4@5� + ����� �	���� ���
� ��� %		� 	�����	� �� ��6������ ��	 ������
������������� 34@,495� -���	 ��	 ������ ����	 
�� ���� ��(�	�
	 ��	 
��	 �	�� ��������� 34;5
�� ���	��� �� %	 ��	 �	��� ��$���$	 �� ��	 ���		 �	�����, ���
	 ��� ����
� �� ��	 �	�	���� ��
���	 �������
	� ���� ��	 ���	����� ��(�	�
	 �� ��	 
��	�

-��� ���
�	� 	��	 
��������� �	 
�� #�� 	��	���	���� �	���	� ���� � $	�� �	�� ����
�	�	��	�
	 �� ��	 
��	 3;,A,495 ��� ����	 ���� � ������ ���� �	�	��	�
	 34@,4A,4>5�  � ��	
���	 �	
	�� �����	� ���� � ������ ���� �	�	��	�
	 �� +BC ��� ��
� !- ������� 34@,4>5
���� 
���� %	 �����%��	� �� � ����	� �������� 
���	�� �� ������� ���� �	�$�	� ���� �����

�	�	 ���	�	�
	� ����	 ��	 �� ���	�	�� �	����� �	����� ��� ��	 ���� �	�	��	�
	 �� ��	
�������� ������� ����� 
��� �������� ���%��	�
	 ���%��������� �� ���� � ���	����� 	����������
��� ��
 ���	������ �� 
�
D 	���%��	� � ������	� ���� �	�	��	�
	 �� ��	 
��	 ���� ����	�
���� �	�� �	����� ���	� 34A5�


�	 ����� �� ��	 ���� �	�	��	�
	 �� ��	��� �� ��� �	�� ��$	��	 ���� ��	 	��	���	���� �%�	��
$������� �	�	����� �� ��	 �������� ���%��	�
	 ���	 ��	 ���� �	�	��	�
	 �� 	��	
�	� ��
%	 ���	�	���  � �	�	���, ��	��	��
�� ���� �	�	��	�
�	� ��	 *�����#	� �	����$	 �� ��	 ��
���
���%��	�
	 �� ����'��� �
����� 3�?5 ���� ��	 ����'��� ������$��� χgB ∝ T

3
2A

1
2 /(RB2) ��

��	 ����'��� �	�� (�� qgB ∝ T
5
2A

1
2n/(R2B2) ��	�	 T �� ��	 ������ �	��	�����	, n ��	

������ �	�����, R ��	 ��6�� ������ ��� B ��	 ����	��
 #	��� .��
	 ���� ��
�	��	� ���������
���� ����	� ������	 ���� �� ��� �%�	�$	� 	��	���	������, ��	��� ���	� ���	� �� 	������ ���
�
�����
� �	
������� 
�� 
���	 � ����'��� %�	����� �� ���������'��� �
����� � ��	� ��$���
� �	�� ��������� ���
� �	��
	� ���� ��
�	����� �����

��� ��	 ��� �	��	�����	 �����	�� ���$	� ���%��	�
	  
C, ���
� �� ���� �������� �� ��	 
��	
�� ��	 ������� ���
���	� �	�	, �	 	��	
� � ����'��� ���� �
����� ���� �� ��	 
���������	��
����� 34@,�45� <���������, 	�	
�������	��
 �" 	�	
�� ��� E×B ��	����� γE×B 
�� �������
	
���� �	�	��	�
�	� 3��5 ���
� 
�� �������	�� 
���	 � ����'��� %�	����� 3�45� .��
	 ��	
��������
	 �� ��	�	 �	
������� 
�� ��	���� $��� ��� ���	�	�� 	��	���	���� 
��������� � ��	�
(�� �������� ���#�	 $�� �	��	� �������� ���#�	 � �� ��	� ��	 	��	
�	� ���� �	�	��	�
	� ���
�����	� 	�	
���� ���	 ���%��	�
	 
�" � �	��	���� �� ��	 ����'��� ���� �	�	��	�
	

�� %	 
���	� %� E���� (�� �	�������� �� ��	 ���%��	�
	 ��	� T� ∼ T�, ��� T� � T� ��	
���� �
����� �� ����� ����'��� ���	 3�@5�

 � ��	 ������ 	��	 �� !����	�, ��	�	 ��	 �	����� �����	��� ��	 ��		�	� ���� �� ��	 
��	, 
�����
������ ����� ��$	� 
�� %	
��	 �������� ��� ��	 #���	 	�	
����������� ���������� �	�	��	�
	



/ �� ��	 �������%���
 	�	
���� �	�����	 �������
	� �� ���������'��� ���	 ���� �	�	��	�
	
�� ��	 ��������� 3�&, �95�  � ��	 �����	 �	�	���� ���� ��	 �	��	�����	 �����	��� ��
�	��	
��� 	�	
���� �	��	�����	 �����	�� �
C ���$	� ���%��	�
	 
�� 
�����%��	 �����#
����� ��
��	 	�	
���� �	�� (�� ����	 ������� �� ���� �	�	��	�
	 3�:5� ���	$	�, ��� ��	�	 �����	
�	�	���� �����	�	�� ��	  
C ���%��	�
	 ���$	� ������ ���������'��� �	�� (��	� ��	 ��
���	�	�
	� �� γE×B ��	� $������ ��	 �����  � ��	 ��		� �����	�� �	���� ��	 �	�
�����
��
��������� ���� 
�����%��	� �� ��	 �	�� ��� �����
�	 ��������� ��� ��� � ���	 ����'���
���	 ���� �	�	��	�
	, ��
� ���� �� ��	 ����� �	�� ��������� ��	 �������	 ���� �	�	��	��

�	� 
��
	� ��� 3�:5� 
�	 ����� �����
�	 ��������� �	����� ��	 ���� �	�	��	�
	 �� ��	  
C
���%��	�
	 ���
	 ��	 �	�
�����
�� �����
�	 ��������� �� ������ ���� ���	�	��	�� 3�:5�


�	 �������� �	����	 �� ��� ����	 ��	��	��
�� �����	� �� ���� �� ���$	���� ���� �
����� �� ��	
��������� �� 	��	
�	�, %�� ��	 ���� �	�	��	�
	 ���� 
����	 ���� ��	 �
���� ������ �	���	
���� �� 
�����	�	�� 
��� �� 
������	�� ���� ��	 $���	�� �� 	��	���	���� �%�	�$������ ���
���������� ��	 ��������
	 �� �	����� 	��	���	��� ����� ���	 
 ��� ��
 ������	� ��� ���
	����	�� �	�� �� 	������������� ���� � ��� � �������� 
� *������� ��	 ����
� �� ��	 ������	
���� �� �	�� ��� �����
�	 ��������� �� �� ��������� �� ������E	 �	
������ 	�	
�� ��	 ��
	��	���	���� ���	�	�
	� ��� ���	 ��	 ���	�	�
	� ���� �

���� �� ��	 ���	���	������ ��	�	
��	� ��	 ���$����%�	� 
�	 ������
 �����	 �� ��	 �����	 �	�	���� ���� 	��	 ��
���E	�
���	� �!"� ��� ��	 
������� �� ��	 
��	 ��� 	��	 ��������� �	����� ��� 
������� ��
	�	
���� ��� ��� ��������� 
����	�� ��	 ����	 	�����	� �� ���	��
����� ���
� �		� �� %	
���	� ���� �

����� 
��� �	����� �� � 
����	� ����	� �� ���	� �������	�� ���	��
����� ���
�
�		� �� %	 ���	��	�� 
�	 ���� #�	���� ��	��	��
�� ���	�� ���
���	� �%�$	 ��	 ��� ����	�
��� ���� ������	, ��	�	 ���� ������ (�� ���$	� ���	����� �� �	*���	��  ���	�� �	 �	�� �� ��	
*�������	�� �����.+
� 3�;5 ���	� ���
� ��	� ��� �������	 ��	 ���� �������	�� �����
� %��
�����E	� ���	�� ������� ���	� ��� 	������	� �	�� ��� �����
�	 (��	� %��	� �� � ���������� ���	
� �	�	 .+
�� .+
� �� �������	� %��	� �� ��	 ��������� �� �������	�� 
���
 3�A5 �����������
�$	� � ���	 ����	 �� �����	�	��� ���	$	�, �� ��� 
���%���	� �� �	��	���� �������� -���	
���� �	��
	� ���	� �� ��� 	��	
�	� �� 
�����	 ��	 ���� �����
� �� ������ �	�����
	 ��	 �	�����

�����%������ �� �	�� ��� �����
�	 ���������� D	
	����, �� 	��	����� �� ��	 ���������� ���	 �
��� %		� ������	� �� ��	 ���� �� .+
@ 3�>5 ���
� 
�����	� ��	 ����'��� %�	����� 
���

��	��
�� ��� ���� �	����� �����	��� a/Ln� > 2.0 3�95� a/Ln� > 2.0 
���	������ �� ��	 ��		�
�����	�� �	���� �� ��	 �	�	���� ���
� �� �� 
������� �� ��	 
��	 �	���� ���� a/Ln� < 1.0�
 � ��	 
��	 ���� .��� 
�����	� ��	 ���� �	�	��	�
	 ����	��	� %� 
���
 ���
� �� � %��
������	� ���� ����'��� ���	 3�>5�

.���	 �� ��	 ��� ����� %	 �� ��	 ���	����	� ���	�� ���
� 
����	 �
���	 �� ���	�, �	�	���� ���

��	 3@?5� ���	$	�, ��	�	 ��
� (	��%����� �� �	����� ��	 ����$����� ���� �	�	��	�
�	� ��� �	
���� ���� ����� �� ��	 ���	�� �� ��� 
�����	 ������	 �����
� �	���  � �����
����, ��	 �	�	����
���� �� ��	 ���	� ���
� �	��	� �� ��	�� �		�����%��������� ���%����� ��	� ��� �	�����
	 ��	
�%�	�$	� ������	 ���� �	�	��	�
�	� 34&5� 
�	�	���	, �	 ��$	������	 ��	 �	�	���� ��� 
��	
�	�����	�� ����	 ���� *���������� ��	 
������� %	��		� %����

 � �	
���� � �	 ���� �	�
��%	 ��� ��	 	��	���	��� ��	 �	�����	� �� ��	 ��
 �������
��� ���
��� %���
 	����		���� 
���������� ���� ����	 ��	� ��	������ ���� ���	�	�� ������	��
.	
���� @ �������
	� ��� �	�
��%	� ��	 �������� ���
	���	� ��	� �� �%���� ��	 ��	�	��	�
�����  � �	
���� & #��� �	 �������
	 ��� ����� � ������
 �!" 
�
�	 ���	� �� ���	������
��	 �	����$	 ��������
	 �� ��������� ���
	��	� ��� ���%����� ������ �� ��	 �	�	����� 
�	� �	
�����E	 ��	 �����.+
� ��������� 
��	 �� ��$	������	 
��	�	��	 
������� %��	� �� ���������
����	���	�� .	
���� 9 ��$	� �� �$	�$�	� �� ��	 	��	���	���� �%�	�$������ �� ��	 �	�	����
�	���� ��� �	
���� : �	�
��%	� ��	 ��	�� �		�����%��������� ���%����� �������� �� ��	 �	�	�����

�	 �	����� �� ��	 	��	���	���� �%�	�$������ ��� ��	 ���	����� ��	 ��	� ���
���	� �� �	
����
;� 
�	 ��������� �	
����� �� ��	 ������ 
��	 ��$	 � ������� ����
���	, #��� �	 �	�
��%	
��	 �%�	�$������ �� �	
���� A, ��	� �	���� �� �	
���� > �� ���	����� ���� ��	 *�������	��
�����.+
� ���	� ��� ���� ���	�� �� �	�� �������	�� �������	��
 ���� ������������ 
�	
�����
������ �� 	��	���	���� �%�	�$������ ��� 
��	 ���	����� �	����� ��	 ���
���	� �� �	
����
4?� 
�	 �	� �	����� �� ���� ���	� ��	 ��	� �������E	� �� �	
���� 44�
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���� �� ��	
��
�
� ��� 
 �����
� ��
�	
 ����
 �� �� ���	 ��� �� �����	 ��
�	
 ����
�� Ip 
�� 	
��
��� �
�� Bt� 
�����
��
�

���� ���
� PNBI 
�� �
��
�
� ���
� Prad 
�� 
�
�
�
 ���
����
���� δ� ���
 
�� 
��
 ���
 
�
�
�
� �
�����
� n̄� 
�� ��

�
�  �� �
�
 Γ� ���
� ��
�	
 ����
� 
�
��� WMHD�

� �
���
������ �����


�	 �
	����� ��	� ��� ���� 	��	���	���� ����� �� � ���	� �!"� �����	 ���� � ������

���	�� �� Ip = 1.4 "+, � ����	��
 #	�� �� Bt = 1.7 
, �� 	��	 ���	�� ��
��� �� q95 = 3.7
��� ��	 
���	��
���	� << ��$	���� 
��#��������� 
��� ���	 �� ������ ��� %		� 	��	���$	��
�����	� �� ��
 3:,44,49,@48@&5 ��� ��� ����	���	� �� ������	� ��� �	��	���� ��	 �	�� ������

�	 ���� �	����� ��� 
������� ���� ���	 �� ������ �� ��	 �	����$	�� ��� �	����� ���	� 4��49
"- �	*���	� �� �	�
� ���� ������ ��	����	, ���� ������ ��� � �	�����%�	 (	��%����� ���
�� �� �����%�	 �� �
�� ��	 ��������	� ����� ������ ��	����	 βN ���� 4�? �� �� @�?�  �
��	 << ��$	���� 
��#��������, ���� ��	 ���	� ��� ���	� �����	 ������ ��������	� �� ��	��
�	��	
��$	 ��$	���� 
���	�� 
���	 �� ��	 ������� ��
��, ��� �	�����	� ��	 �

	���%�	 ���
�
��	 �	*���	� �� �	�
� ���� βN� +�����������, ��	 << 
��#�������� �� 
������� ��	� ��� ����
	��	���	��� ��� 
���	*�	���� ����	 ��$	���� ���	� ��	 �	����$	�� 
�	�� ���
� �� %	�	#
��� ���
��	 �	�����
�%����� �� 	��	���	���� ���	���	��� ���
� �����E	 ���	 ��
����� ��$	����

��#��������� ���	� �		� �� ��	�� ���	 �� 
����������� ��	 ��$	���� ���	� #��� �� 	����	
�	�����
�%�	 
����������

	
��� ���

� + ����
�� �	��� ��� � ������ ����	 �� ���������	� �� #���	 4�  � ��	 
���	��
(����� ����	 
������� �	����� ���	� �� �����	� ����� ���� � 
������� ��� ��	������ 
�	
(����� �� ��$��	� �� � ��� ������������� δ ����	 �� �� 4&�? � ��� � ���� δ ����	 �������� �� 49�?
�� ������ ����	� ������� �� ����	 ���� ���� βN �	�� �� ��� �	�
� ��	 �����	� �	���������
��	 �� �������� �

���������� 
�	 ���#�	 ��� ��������� �������� �� ��	� �	�����	� ��� ��	
����	�� ���������� ����	 %	���	 ��	 ���	� �� �������� �

���������� 
�	�	 ����	� ����
����
��$	 � �	���� �� > 10τ� ��	�	 τ� �� ��	 	�	��� 
��#�	�	�� ���	, ���	$	�, �� βN = 3.0 ��	
�	���� ��	� ���� �� 2τ��

�������� 
�	 ��������� �	����� ���	� %� �	����� %	�� ��6	
���� /F' 0 PNBI ��� ��� ����
�	� �� $���	� ���� @ �� �� 49 "- ���� ��	 %��� �� ��	 	��	���	��� �	�����	� �� 4? "-
���
� �	����� �� � ���	� �!"� �����	 ��� ��� ���� ��� ����	�� 
�	 F' ��	
�	� �� � ���
���� � ��� ��� � ������� ��� 
 ��� ��	 
 ��������  � �
 %��� �� ��� 
�F' ��	 �����E	��

�	 ���	� 
���%������ ��� � ��� 
 F' �� �

����	 ������ 4?G 3@95� ��	 �� ��	 ��� ������
�	����� ��	 F' �		�� �� %	 ��	���	� �� �	��
	� $�����	 ≤ 100 �= ��� �	��
	� ���	� �	�
��6	
��� �� �$��� 	�
	���$	 F' ����	�������� +���� ���� ��	 �	�� ���� 4??G �$����%�����
�� ��	 �	����� %	��� ���� ��	$	��	� � ��������
��	� ������������ �� ��	 �	����� ���#�	� ���
��	 ���	�	�� F' ��� ���� ��� ��	
�	�� 
�	 ���	� �	����� �� 	�	
���� ��� ���� ��	 �� F' 
�� 
��
����	� ���� ��	 FB'�+" 3@:5 ��
���	 ������ ��	 ��	��� 3@;5 
��	 �� ���������	�
��� ��	 ���	�	�� ������	� ���� $������ �	����� ��� PNBI = 10 "- �� #���	 �� �	����	 ��	
��
� �� �	��
��	� ������������ ��	 �	�� ���#�	� ��	 �	�� ���
�	� ��� ρtor > 0.3 ��� ��� ���		
������	� ��� ��� � ��� 
 �$	� ��	 ����	 ������ /��� ��	 �	#������ �� ��	 ������ 
��������	



1

0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

el
ec

tr
on

 h
ea

tin
g 

P e
 [

M
W

/m
3 ]

normalized radius ρtor

H
D
T

0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

(a)
0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

io
n 

he
at

in
g 

P i
 [

M
W

]

normalized radius ρtor

H
D
T

0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

(b)

���� !� "�
����� 
�� ��� �

���� ��� PNBI = 10 #$ ��� ��%
�
�� ������
� 
�� �
�����
��

0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

Pe

Pi

D T

au
xi

lia
ry

 h
ea

tin
g 

[M
W

/m
3 ]

normalized radius ρtor

0.00

0.10

0.20

0.30

0.40

0.50

0.00 0.25 0.50 0.75 1.00

���� &� "�
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�� ��� �

���� ��� PNBI = 13 #$ ��� �'()� ���� � *+,(--!!./ 
�� 0'()� ���� 0 *+,(-12�!/ 
�
��	��
� �
�����
��

�		 �	
���� @0� 
�	 � ����	� �	�� �� ��$	 ���	 �	��	� �	����� ���#�	� �� ��	 $	�� 
	��	��
���	$	�, ��	 �� ��	 �����	� $����	 ��� ρtor < 0.3 ��	 
	����� �	����� ������� ���� �� @?G
�� ��	 ����� �	����� �	����	 ��$��� ���	 ��	� 9 ���	� ��	 ���	� �	����� ���� �� ��	 ���	�
������ 
�	 ���	�	�
	� �� ��	 �	����� ���#�	� ��	 ���	� ���� �

���� �� ��	 ���	������

+� ��	 ����	� �	����� ���	�� 4@ "-, ���
� ��	 �	*���	� �� �	�
� ���� βN, ��	 �	�� �	���
������ �� ������ ������� ��	 �� �$	���� ����	� ������ �	������ 
��� �� ���������	� ��� � ��� 

������� �� � ���
�	� �	����� 
��	 �� #���	 @� F��	 ��	 ����	� ��� �	����� ��	 �� ��	 F' 
�� ��� 
��	��  � ��	 �
 ������� ���� α �	����� ��	 �� ��
 ������ �	�
����� ����� ���� �
���	, ���	$	�, ��� ��	 �����	�	�� ���
���	� �	�	 ���� �� 	������	� �� %	 ���� ������ 0.15
"- ���
� �� %	��� �G �� ��	 ����� �	����� ���	� ��� ���� %	 �	��	
�	� �� ��	 ���������

�	 �������� ��	����	 
��
����	� %� ��	��� ��� ��	 �	����� ���
�	� ������� �� � ��� 
 ��
����� �� #���	 &, ����	 ��	 �	����$	 �������� 	�	��� �� *���	 ������� ���� Wfast/Wth |D= 0.22
��� Wfast/Wth |T= 0.24, ��	�	 ��	 ���	�	�
	� �� ��	 �������� ��	����	 �����	��� �� ��	 ���	�
������

��� �
������1 
�	 ��� ��	����� ������ ��	 
���	�� (����� ����	 �� ���	 ���� ��$	���� $��$	��
��� ��	 ���	� ������	�, �	��	���� ��� �	�� ��	 �������� ��� �������
���� �����	� C "�

�� %	 ��	�, ��� ������� ���� ��	 ������� �������
���� �����	� 
 "� ��	 �$����%�	 3@A5� 
���
�������
	� �� ��	�������� ���	�	�
	 �	������� ��	����� ���� 
 
�����	� �� ���	� ���	�� 
�	

 "� ��	 �����	� ���� ���� ��	 ���� ������ 
���%	�, ��	�	���	, ��	�	 �� � 
�����	��%�	
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 �� �	������ 
���	��
���� �� +,(-56&7 
� βN = 2.55� ��
��
 
�
����� �
	�
�
���
 �����
 ����� 5�& ��
�� �
��
� �� &8! 	��
 
� 5�6 �� ������ T� �����
 
� 1�5 ��

�	��� %	��		� ��	 $��$	 ��	���� ��� ��	 ��� ����$��� �� ��	 ������ %�������� -�	� �����

 "� ��	 ������ �� ��	 $��$	 ��	����� �� ��6���	� �� ������E	 �� ����
� ��	 �� ���	�	�
	� ��
��	 ��� (��� �	����� �� ��	 ����
� �� ���� ���	 �	��� 
�� %	 ����� �� 3@>5� 
�	 ��������� ���
��	����� �� ��6���	� �	�	����� �� ��	 ������ ��	����	, ��� ���	���	 ��	����	� �� βN ≤ 2.2
��	 ������� ��	 *���	 �	����	�� ������� �������� �

��������� ��� �	 ��� ��	 ��� �
���
���� @ ���	�	�� ��� ��	����� �	$	�� 0.8 · 1022, 1.3 · 1022 ��� 1.8 · 1022 �����
�	�H�� ��� ����	�
��	����	� βN ≥ 2.5 ��� �� ��	 ������� �	$	��� "�� ���	� ���
� ��$	 � �	����$	 ����
�
�� ��	 �������� %����
	 �� ��	 ������ 3&?5 ���
� 
�� �	���� �� � �	����$	 �		�%�
� ����
	����� �� � �������$	 
������	 ��	 �� �������� �

���������� .�
� �	*�	�
	 �� ���������	�
�� ��	 ���� �� 	�	
���� �	��	�����	 ���#�	� �� #���	 9� B���� � �������� �����	�� � n = 3,
m = 2 ���	 �� :�@ � ��	 �	��	�����	 ���#�	 �� ���%�	 ��� �	��	�, ��	� �� :�A � ��	 ����	��

������ �� $���%�	 �� ��	 �	��	�����	 ���#�	 %	��		� � �������E	� ������ �� ?�&�?�:� +��	���
3τE ���	� �� ���� �����I ��������	� ��$	 �

������	� �� ��	 
��	 �� �	���� �� � ������ T�
���#�	� +� ��	 ����	��
 #	�� �� 4�; 
 �� ��$����%�	 ����
	 �� ��
�� �	����� �� �$����%�	 ��
��
 �� ���� ���� �	����$	 �		�%�
� �����  � ��	� ��� �	�� ���� �� ��	�	 �	�����	� ��	 

����	� �	�� �� ��$	 �	�� 
	����� F' �	����� ���� ��	�� � 
����	������� 
�	�	���	, �� ��	
��	�	��	� 	��	���	��� ��	 �������� 
������ �� ���	 $�� ��	 ��� ��	����� ���
� ����
�� ��	
�!" ��	*�	�
� fELM� -��� � ��7
�	���� ���� fELM ��	 �������� (�� ����$��� �� ��	 
��	
�� ���	���	� ���� �� ���	��%�	 �	$	��� <���	*�	���� �� #�	� ��� ��	����� ���	� ��	 �����	�



3 ��� ��	 ���� βN ��������

�����
� 

����1 ��� ��	 
��������� �� ������� �� �, � ��� 
 ��	 ���� �� �� ��$	 ��	
����	�� �����%�	 ������	 ������ ���
� �� �
��	$�%�	 ���� ��	 ��
 '	H- ����� ���	$	�,
� �	��	
��� ���	 ������ �� 	��	���	������ ��� �	���%�	� +�� ������� ���� ��$	 � �������
�� 4��G ������	� ���
� 
�� %	 � �	
�
� �� � ��	����� �� ��
������	 ��� 
�
������ ��������
�	����� �� ���� ��	 � ��	#�� ��� ��	� ��� ��	 
 �������� .��	 �� ��	 ������	� �������
��	�	��	� �	�	 �	�	 �	�����	� ������ ��	 � 
�������, ��	�	���	, ����	 ��	 � ��� 
�	��	�
�� ��	 ����� %� ��� ������	 	��	���	��� �� ��$��
	, ���	 �	������ � �	����	�� .���� � ���	
�	�	$��� ����
� ��� ��	 ����	 �� ��F' �� ��	�	 ������� �� �
��	$	 ����	� F' ���	� ����
�����%�	 ���� ��F' , ��	�	 �	
���
�� ����	� ����� ��	 ������� F' ���	� �� 4? "- 3445�

��� �	����	� �� 
��
	��������� �� nH/(nH + nD) ∼ 0.9 ���� ��	 ������	� ��� �	��	����
�	�����	� nH ��� nD� .���� ��� ��� �	���
� ���
���	� �� ���� ���	� ��	�	 ������� 	��%�� ��
���	�	�
	� �� ������� ���� ����	� � 
��
	���������� ��� ��	 
 
������� ���	 ���	 ���
����
��	� �� 
�	�� ��	 $�

��� $	��	� �� �	������ � �� ���	� �� �	��
	 ��	 4& "	= �	�����
�����
���� �� %	��� 4G, ��	 �� ��
 �	����� %���	� �	����
����� ��� ��	 ��������� �
��

�������� <��
	��������� �� nT/(nH + nD + nT) > 0.98 ��	�	 �
��	$	�� +��������� ��
��	 ���� ������	��
 ���� ��	 ������ 
������� ����I ��������	� ���
� 
�� �����	 ��	 ����
������ ��� ��	 ������ %	�������, 
��%�� ��� �	��� ��	 �� ��	 �	�����
 ���� ��	 ��������

���	�� �� �	�	����� *���	 ���� -	 #�� ��	 	�	
��$	 
����	 ���%	� Zeff , �� �	����	� %�
$���%�	 '�	������������ ��	
����
���, ���� Zeff < 1.5� 
�	�	 ��$	 %		� ���	 ����	� ���� ��	

���%������ �� ���� ���������
, ���	$	�, ��	 �� ��	 �$	���� ��� �������� 
���	�� ��	 ����
� ��
��	 ��� �	����� ���#�	� ��	 �� ��
	�������	� �� Zeff �� 	��	
�	� �� %	 �	�� %	��� 4?G� �����
I ��������	� ���	 ������	� �� ��� �����	 ��	 ���� ������ ��	 �� ��	�� ��� 
��
	���������,
���	$	�, ��	� 
�����%��	 �� ��	 ������	� ���	� �� ���
���	� %	����

	����� ���
�� +����	� �����	�	� ���� �� $���	� �� ��	 	��	���	�� �� ��	 ������ ����	,
�� �����
����, ��	 ������ ������������� δ ���
� �� ����� �� ��$	 � �����#
��� ����
� ��
��	 �	�	���� ��� ��	�	 4�& "+, 4�; 
 ������� 3@&5� -���	 
������� ��	 ������������� 	����

��	 ��� 	�����	� �� �		� ��	 ��$	���� 
��#�������� 
������� ��� ��	 �����	 ������ �� ��	

���	� ��������� ��	
��$	�� ���� �	��� ���� ��	 ���	� ������������� �� $���	�, ����	 ��	 ���	�
������������� �	����� ��	 ���	� 
��� �� �	�	$��� %	
���	 
������� ��	 �����	 ����� ��������
���� ��$	 � 
�����	��%�	 ����
� �� ��	 ��	����� 
����
�	�����
� 3&45� 
�	 (�� �����
	� ��
��	 ��� ����	� ���
� ��	 ��	� �� ���� ���� ��	 ���������	� �� #���	 :� 
�	 
���	��������
�������������	� ��	 ��� δ = 0.20 . . . 0.25 ��� ���� δ = 0.29 . . .0.32 ��	�	 ��	 $�������� ������
	�
� �	� �� ��	 �� ��	 .�������$ ����� �� ��	 ������ 
	��	� ���� ���	�	�� ������ ��	����	��
-�	�	 �	 �	#�	 ��	 �$	���	 ������������� �� δ = (δup+δlow)/2 ���� ��	 ���	� �������������
δup ��� ��	 ���	� ������������� δlow� .��
	 δlow �� �	�� 
������� ���� �� ��	 $�������� ��
��	 �$	���	 δ ��������	� �� 
����	� �� δup� F��	 ���� ���� $�������� �� δ, ����	 �� ��� ��
����
� �� ��	 ������, �� ��� 
������%�	 �� ��	 ����
� �� � ���� δ �� �� ?�: �� � ��
���	
���	 �   �� 3&�5� + ���	
��� �	�����%�	 ����
� ��	 �� ��	 ���	�	�� δ �� �� ��	 �����
�	 (��
%����
	 %	��		� ���	� ��� ���	� ��$	����� !������� ���%	 ���� ����	��� ���� ��	 ��� (��	�
������� ��	 ���	� ��$	���� �	
�	��	 %� 4?�4??G ���� ����	� δ ����	 ��	 (��	� �� ��	 ���	�
��$	���� ���� ��	 ���	 ������ ��	 ��
	�������	� �� ±30G�

���������� 
�	 
��	 ������	� ���	� �� ��	�	 ��
� !- ������� �� �������	� %� ��	 �����I
�������� ������	� ���
� 
�����%��	� �%��� >9G �� ��	 ����� ������	� ���	�� ���� �%�	��
$������ �� � ��� � �	 	��	
� ��	 �����
�	 ��� ��	�	%� ���� ��	 �������� 
��#�	�	�� ��
��
�	��	 ���� ����	� ���� ��� ������	 ����� 
� ����
 ��	 �������� %	��$���� �� � ������
���� � �	�$�	� ������	 	��	���	��� ���� � �����	� ������	 %�� ����	� ������������� �	�	 	��
	
��	�� 
��� ����� *���	 �	�� ��� � ��� �, � ���� δ � ������ ��� ��	 ���	 %��� ������	�
���	� Prad,bulk �� � ��� δ � ������� ���	$	�, �	����	 � ��� 
 ��$��� � �����	� �	����$	
���� ���	�	�
	, ��	 ���� δ � ������� �	����	� �� ����
 ��� δ 
 
��������� ����� 	���%��
���	� %��� ��������� ���� ��	�� 
 
����	�������  � #���	 ; �� �$	�$�	� �� ��$	� ��� ���
���		 ������	�, ��	 ���� δ 
 ������� ������ ���	� ���� �������� �

��������� �� ���
���	�
�%�$	, ��	�	���	, ��	 �
���	� �� Prad,bulk �� ����	� ��	�	� �	����	 ������� ��������� �	�����
���	�, ��	 
 ������� ���� ��$	 ���	� �	�� (��	� %� ?�9�4�? "-� "��� �� ���� ���	�	�
	
�� 	��	
�	� �� ��������	 ���� ��	 	��	 ������ ���� ρtor > 0.7 ���
� �

����� ��� ;?G ��
��	 ����� ������	� ���	�� 
��� �� ����� �� #���	 A ��	�	 �	 
�����	 �����������
 �	
���
����
����� �� %����	�	� �	����	�	��� ��� � ��� 
 ������� ���� � �	�	���� �	����� ���
��

� ���	 ��	 ���	�	�� ��������� ���� �

���� �	 �������
	 ��	 ���	� �$	� ��	 �	��������
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Psep = Pheat − ∂W/∂t− Prad,bulk, ��	�	 Pheat = Pnbi + Pohm, ���� Pohm %	��� ��	 ����

�	����� ���	�, ��	 
����	� �� ��	 ����	� 	�	��� ∂W/∂t ��	 �	�����%�	 ������ ��	 ����������
����	� ���
���	� �	�	�

� ������
� ���	�����

	����� ������������ 
�	 ���� ���#�	 ���������
� �����E	� ��� ���� ���� ��	 ��	 
������
�
���	���� �D
. 3&@5 ��� 
����	 	�
����	 ��	
����
��� <JD. 3&&5� 
�	 �D
. ��	��� �	���
�%�	 	�	
���� �	����� n� ��� �	��	�����	 T� ���#�	� �� �� ��	 �	�������� ���� ��7
�	�� ���	
�	�������� �� �	���$	 �!" 
�
�	�� 
�	 
��	 <JD. ���������
 �	����	� ��	 ��� �	��	�����	
T� ��� �������� �������� ��	*�	�
� ωtor �� �������� ���� ��� ��� �	�	
�	� 
��	� ���� ���� ��	
���� ����� 
�	 ���� �������� ��	� ��� <JD. �� �	��, ���
� �� ���	� �� ����� *�������
������ ��	 (����� �� 	����
	 ��	 �	����	� <J ������� ��	 �� ��	  
�D ���	 ����  !-
���� '	 ��� - ������ ��
��� 
�����	��� ��	 ��������
 
���	�� �� 
��%�� �� �	�	����� ���
��� �� %	 ��	��� ��� <JD. �	����	�	���� ��	 �� � �	��
��	� 	��	 <JD. ����	� T� ���
ωtor ��	 �$����%�	 �	���%�� �� �� ��	 �	�	���� ���, ����������� �%��� �	�	���� �����	��� ���
�	�������� $���	� �� ���� �$����%�	 ���	� ������� 
��������� ���
� ��� ��� ��	 
��	 ��� ��	
	����	 ����%��	 ���
���	� �	�	�

���������� ��

���� 
�	 ���#�	 ���� �� ����	� ���� �	�� ���
	 �� (�� 
��������	�
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�����
�� �

���� ���
� 
� 	
���
� �
�����
� *���
����
 .!/�

����� 	*����%���� �	
������
����� ���� ��	 �� 
 
��	� 
��� ���
	���	 
�� �������
	 ����
��#
��� ��
	�������	� ��� 	$	� ���
�	���
�	�, ��	�	���	, �	 �	��	� ��	 ������� �� 	*����%���
���� ���	�	�� �	$	�� �� ��������
������


�	 ����	��
� ���� �	
������
���� ��%	�	� �� 
 ����
���� ���	�	������	� ��	 .�������$
����� �� ��	 ������ 
	��	� ��	 �� ��	 ������� ��	����	 
����������, ���
� %	
��	� �����
�
������ ��������� ��� ���� βN �������� +��� ��	 �	
������
�	� �	�������� ����	 �� �����
�� %	 ��
������	�� ������ %	��� ��	 �������	� 
��� %	
��	� 	$��	�� �� ��	 ���� �� �����
�����
� ���
� �	����	 %	��� ��	 �������	 �� �� ��	 �	�������� ���	 ��	 �D
. ��	�	 ��	
���#�	� �		� �� %	 �����	� �� �� �	$	��� 
� �� %	 
������	�� ���� ��	 	��	
�	� �	��������
�	��	�����	� �� Te,sep = 100 	=� 
����� ��	 	�	
���� ��	����	 ���� �D
. �	����	�	���
���� �

���� �� �� �� 
 �	
������
���� �� 
���	� ��
K, ���� �����$	� ��	 
������	�
� ��
��	 	*����%���� �	
������
���� �����#
����� ��� �	
	����� ���#�	 ������ �	���� %	��� 4 
��

�	 ��
K �	
������
���� �� �$����%�	 ��� ��� ����	� ��� �� ��	�	���	 ��	� ��� ��	 
��������	
������� �� �	����	�	��� ���������� ��	 ���	�� ���	$	�, ��	 ��
K �	
������
���� ��
���� %��	� �� ��	 	�	
���� ��	����	 ����	 T� = T� �� �����	� ��� ��	 �������� ��	����	 ��
�	��	
�	�� 
� �	�� ��	 ����
� �� ���� ���������� �	 ��� �� 
LL �	
������
�����, ���
�
�����E	 �� ��	����$	 ���� (��� -	 ��� ��� #� ��	 	��	���	���� ���#�	� n�, T�, T� ����� ��	
����	��
� ���� �� 
, ��	� ��� ��	��� �� �	�	����	 ��	 �������� ��	����	 ���
� ��	� ��$	�
��	 %	�� �����%�	 ������������� �� ��	 ����� ��	����	 ���#�	� 
��� �� ��	� ��	� �� ����� ���
��	 	*����%���� �	
������
���� ���
� ��$	� ��	 �����$	� 	*����%���� �� 
LL� 
��� �	�
	*����%���� �� ��	� ��	� �� ��� ��	 ���������
 ���� ������ 
�	 �	����� ��� � ������ ����
T� > T� ��� ∼ 20G �� �������� 
���	�� �� ����� �� #���	 > /�0 ��� ���������	 ���� � �����#
���
���
�	���
� 
�� ����	 �� ��	 
��	 ��	� ��	 ���#�	� ��	 
�����	� �� �������E	� ��������
(�� 
��������	� ���� ρpol =

√
(ψ − ψaxis)/(ψsep − ψaxis) ��	�	 ψ �� ��	 �������� (�� ���

ψaxis ��� ψsep ��	 �	��	
��$	 $���	� �� ��	 ����	��
 ���� ��� ��	 �	���������  � #���	 >
/%0 �� �� ����� ���� ���� ���
�	���
� �� �$���	� ��	� ��	 �������E	� �������� (�� ��%	�
ρtor =

√
(φ− φaxis)/(φsep − φaxis) �� ��	� ����	��, ��	�	 φ �� ��	 �������� (��� 
�	�	���	,

�	 ���� ��	 ��	 �������E	� �������� (�� ��%	� ρtor ��� 
��	 ���#�	� ���������� ��	 ���	� ���
���� ���� 
���������� �� ρpol ��� ��	 �	�	���� ��	�	 ��	 ���	����� ���
�	���
� ��	 �� ��	
������� �������� ��	����	 �� ��	 ��
K 	*����%���� �� �������� F��	 ���� ��	 ���
�	���
�
%	��		� ��
K ��� �� 
LL �� 	��	
�	� �� %	 ���� �	$	�	 ��� ���� �������� ��	����	�, ��
��	 ����� 	�����	 Wfast/Wth ∼ 0.2�

-	 �����E	 �� ���������� ���	 �� 	*����%���� �	
������
���� ���
� �	��	� �� "�� ����	��
���	 ��	 �������� ��$	����� ������ �� ��	 �������� �� � ���	 ���� ����� ���	 ���%	���

�	�	 "�� ����	�� ��	 ��	� ��	� �� �� ��
K 	*����%���� �� 
��������� ��	 *����#�	 ���
��� ���� 	����
	� ������� �	��������� +� �

����	 *����#�	 �� �����
������ ��������� ���
��	 �������	��
 ����������� ���
���	� �� �	
���� >, ��	�	���	, ���� ���	 �� 	*����%���� ���
��	� �� ����� ��� ��	 �������	��
 ������������

��� ����������������  � ��� ����	� ���	����	 ��� ����� ���#�	� ��	 �!" ���
������	�
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���� -� #
����� �� ��
 ���	��� ��
��
���� �
�
 ����  �� �������
�
� ρpol *
/ 
�� ρtor *�/ ���
 ���� ��%
�
�� 
4�������

��� +,(--!!.�

��� ��	 ��	 �!" ���� �� ������ 
�	 �!" ���
����������� �� ���	 �	����$	 �� ��	 ���	 �� ��	
'	   ���	 ���	����� �	����	� �� ��	 ��$	���� ���
� �� ��	� �� �!" ����
����� +�� ���#�	�
��	 ����	� �� ���	 �	����$	 �� ��	 �	�� �!" ��� ���#�	� ���
� ��	 ������ � ��@ �� ���	
������ �� �� ��	 �!" 
���� ��	 �	�	
�	� �� ��	 �!"� 
�	 ���	 ������ ���� �������� $���
�	�	����� �� ��	 �!" ��	*�	�
� fELM, ��	 �	���� �� ��	 �$����%�	 ���������� ����	 �� �	��
�� ��	 �$����%����� �� �D
. ���	� ����	� �	����$	 �� ��	 �!"�� -�	� �!" ��	*�	�
�	� ��	
����� ����	 ��	 ���� �	�	����	� ����� ��	 '	   ��������� ��	�	 ��	 ��	*�	�
� �� �	�	����	�
$�� ��	 �	�� �� ��	 ���	 %	��		� ��� ��6�
	�� �!"� fELM = 1/ 〈ΔtELM〉, ��
	�������	� ��	
��	� �	�	����	� �� ��	 �������� �	$������ �� ��	 ΔtELM ������%������ 
��� �	��� � �����
��
	������� �� fELM 
���	������ �� ������ �	����� �!"�, ����	 � ����	 ��
	������� ��	��
���� ���	 ���	����� �!"�, 	��� �����	� �!"� �� %	��		� ���	 �	������� �

������ ����	�
�!"��

	����� ������� 
�	 �	��	�����	 ��� �	����� ���#�	� ��	 #��	� ����� � ����#	� ���	�%���

����	�� ���
���� 3&95 ���
� ��	� � ���	�%���
 ����	�� �� #� ��	 �	�	���� ��� �� 
���	
�	� ��
� @�� ���	� ���������� �� ��	 
��	 ��� 4�� ���	� ���������� �� ��	 �
���	 �� ���	�� )� ��	
����	��
 ���� ∂f/∂ρtor = 0 �� ��	� �� %������� 
��������, ��	�	 f �� ��	 #� ���
����� 
�	
������� ��	*�	�
� ω �� #��	� ����� � �����	 ���� ��		 ���� ��
������ ��� ∂ω/∂ρtor = 0 �� ��	
����	��
 ����, ������������, 
��$����	 
����	� ��	 �	����E	� �� ��	 $	�� 
	��	� ρtor < 0.2
��	�	 ��	 ���� *������ �	��� �� �	����	 ��	 �� ��� �������� 
���	��� B�
	�������	� ��
���#�	 ���� ��	 �	�	����	� ��������
���� ����� ��	 ������%����� �� 	��	���	���� ���� �$	�
��	 ���������� ���	 ���	�$��� �	�	
�	� ��� ��������� F� ����	����
 ��
	�������	�, 	��� ��	
�� ���������
 
���%������, ��	 ���	� ���� �

����� -�	� �	�	������� ��	 �	�	���� �����
��� �����	��� �	 ���� 	����� � %����	�� #� 3&:5 �� ���� ��	 	��	 ����� ��� ��	 �	����� ����
�	���� ��	��� ������� $���	� ���� �� ������
� ���� ����#	� ���	�%���
 ����	�� #�, ��� ��	
�	��	�����	 ��	 $���	� 
�� $���� 
�	 �	���� ��� ���� �� ��	 �	����$	�� ������� 
����	 ��
��	 �	��	�����	 �����	 �� ��	 ��		� �����	�� �	���� ���
� 
���	� ��	 �	�	���� ����� �� $���
%� � ��
��� �� � �	�	����� �� ��	 �	������������ �����	� %� ��	 #� ���
���� ��� ��	 ������
����	 �� 	��	���	���� ���� ��
���	� �� ��	 #�� -	 #� ��	 ���� %	��		� ρpol = 0.70 ��� ��	
���� �� ��	 �	�	���� ���
� �� ����
���� �� ρpol 	 1.01� 
�	 �	�	���� ����� Δ �� ��	� �	#�	�
�� ��	 ������
	 ���� ��	 �	�	���� ��� �� �	���������

 �

��� ��!���������� 
�	 ���	� �	����	� %� ���� � �	(	
���	�	� ����� � �����	�
%�
��
���	���� �'. �	
���*�	 
�� %	 � ����� ��� ��	 �	����� (�
������� �	$	� ñ/n �� ��	
�
���	���� ���	� �� ��	 ������ 3&;5� -	 ��	 ����� ��	 
���	������ �	(	
���	�	� 3&A5 ��� ����
������	 %� �����E��� ���� ��	 ���� ���%��� ��	*�	�
�	� fprobe� 
��� �� ��	 �����	� =�%���
���� ��	*�	�
�	� �� 48.8 . . .74.0 C�E �� J����	� )�	 ���� ��		� ���	� �A: �� 
�$	����
4& ������
� ��	*�	�
�	� �� ���� ����	� +� ��	 ����	��
 #	�� �� 4�; 
 ���� 
���	����� ��
�	�����	� �� ∼ 1.2 . . .3.0 · 1019 �−3 �� �	�	����	� ���� ��� ���
���� 
��� �	��� �� ���
�	�����	� �	 ���%	 ��	 ������ ���� �����	 ��	 �	�	���� ���, �$	� ��	 ��		� �����	�� �	����
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 �� 0����
� �
 
���	
��� ��� ��%
�
�� ������� ��
4�
���
��

�	���� �� �� ��	 �	��������� "	����	� ���	� ��	
��� ��� ���	�	�� ���%��� ��	*�	�
�	� ��	
����� �� #���	 4?� -���	 �	 �		 � 
�	�� �����	� ����� ��	� ���%��� ��	 ������ �����	 ��
��	 �	�	���� ���, ��	 �����	� �	�� $�����	� ��� fprobe 
���	�������� �� ��	 ��		� �����	��
�	����� )��� � �	����$	�� ����	���
 ��	
���� �	����� ������ E	�� ��	*�	�
�� 
��� 
��
%	 	������	� %� ��	 $	�� ��� ���%��	�
	 �	$	�� �� ��	 ��		� �����	�� �	���� ���
� �	����
�� � $	�� ��� %�
��
���	�	� ������ ��� ������ ������� ���� ���	� ����
	� �� �������	 ��	
��	
����� 
�	 ����
	 ��� ��	 �	�� �� E	�� ��	*�	�
� �� E	�� �������� �� ���� ���	�� ��	
�� ������ ��
��	�
	 �	(	
���� ���� ��	 ������� �	����	 ��	������ ��	 �	(	
���	�	� ����
��	 ���� ��
����$	 %	�� ����	� �	����$	�� �� ��	 (�� �����
	� �� �%���� %�
��
���	����
��	�	 
�� %	 
�����	��� ���� ������ ��
��	���� 
��� �� 	���	� ��	 �� � ���	 ���� ��%	 ��
��	 �� ���	 ��%	� ��� 
������� �%�	�$	� ��� �����	� �	(	
���	��� 3&>5� +�������, ��	�	

�����	��� ��	 ����
���� ���	����	� %� 4? �' �� ���	 %	��� ��	 ���� ��%	, ��	 ���%��	�
	
�	$	� �� ����	� �� ��	 ������ ��
��	�
	 ���� k⊥ ∼ 0 . . . 1 
�−1 
�����	� �� ��	 	��	
�	�
�����	� k⊥ ∼ 10 . . . 15 
�−1 %� �� �	��� 4? �'� 
� 
����
�	���	 ��	 ��	
���� ���	� �	 #�
��	 ��	
��� ����� � C������� �����	��������� ��� 	�
� ���	 ����� ��� ��	� �$	���	 �$	� ��	
���	� �!" ����	� ��� 	�
� ��	*�	�
��

� �����
�� ������� ��������� 	������� ��� ������

���� ���
���

��� �������� ���
����� �����

+� ���
���	� �� ��	 �������
���� ��	 
������	�� ��	���	�� �� ��	 ���	�	�� ��������� 
����	��
��� ��	�� ���	��	�	��	�
	 �� ���������� 
�	�	���	, �	 %���� � ��������� ���	� ����� ����
$	�� %���
 �	�� ����� �����
� 
����������� 
�	 ��$	��� �� ��� ������
� �� ���� �	 ����	�	��
����	 
��������� �� � 
����	� �	�� 
������	�� ����
	 ���$	� ���� ������ ���	� ��
������ �	��
��� �����
�	 ��������� 
����	��� 
�	 ���	� �� ��� ������ ��	 ����	 
��	 ���
� ����

�����	� ��	 �	������ 	$�������� 
��� ������ �� �� ���	������ ���$��� �	�	��	�
�	�, ���
�
���	����	 ����� %	 �%�
��	� %� ��	 
����	���� �� ��	 �������	�� ���	��
����� %	��		� ��	
��������� 
����	��� 
�	 ������	 �� ��	 ���	� �� ��� �� ��	��
� ������ �����	�	�� %�� ��
���������	 ��	 
���� �� 
���	*�	�
	� ���� 
����	� ���� �	� �� �� � 
����	� 	�$�����	�� ��
�
�� � ������ ������� 
�	 �����
� ����	��	��� �� ��	 ���	� ��	

• + 
����
�� �����	�� ���	� 39?5 �	�	����	� ��	 �	�� ������$��� χ �$	� ��	 ���� ������ ��
�� ��	 �	���������

• + �	�	���� ��������� 
��������� �	��
	� ��	 �	�� ������$��� ��	� ��	 ��
�� γE×B 	��

		�� � 
����
�� ��	����� ���	� + ���� �	�	��	�
	 
�� %	 �������
	� �� ��	 ������$����

• 
�	 �����
�	 ������$��� �� 
����	� �� ��	 ��� �	�� ������$��� �$	� ��	 ���� �������
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 �
����� �����
 �� ��
������ 
4��������	� ��
� �
����� �
�
�
����
�
����� *
/� �
���
�  �� *�/ �� ���� *�/�

• + 4� �	����� �	�	������� ���	� 3945 
��
����	� ��	 �����
�	 ����
	 ������ ��	 ��� ����
���� �

�����

• +� �!" 
�
�	 ���	� �� ��	� ���
� �����	�� � ����� /4 ��0 ����	 �� 	����
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� ������ �� �� �	�����
	 �����	 ���	 ���#�	� ���� ��		� �����	���
�� ��	 	��	� 
�	 ����� �� ���� �	�	���� �� �	�	����	� %� �	����� �	�	������� ���
� �
��
�� �		� ��� ��	 	�	
���
 #	�� �	�� ���� �� �	������%�	 ��� ��	 ��	����� ���	� 
�	 �	�	���� ��
��	� ����	� %� ��	 ������	�� 
�
�	 �� ��������� ���������� ��	 �� γE×B, ��		�	� �����	���
��	 �� ���	� ��������� ��� 
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	 �	 ���� �������	 �� �� ��	 �	�������� �	 �		� �� �	� ��	 �	�������� $���	� Te,sep, Ti,sep
��� ne,sep �� %������� 
��������� <���	*�	����, ��	 *�	����� ����	� �� ��� �� ��	�� ���
��	����� �� ��	 ���	�� ��	 �� ��	 ���	
� ��(�	�
	 �� ne,sep �� γE×B �� ���	� � ���	 ���	�	�
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�	 �	����� ��
�
��� �� ne,sep ��� n0 ��	 ����� �� #���	 44 ��� ��	 �	����� ��� �� #���	 4� ��� ��	 ��	����	�
 �
�	����� ne,sep �	��
	� γE×B ��� ���� �	���� �� ����	� ��������� ��� 
���	*�	���� ���	�
�	����� ��� ��	����	�  �
�	����� n0 �� Γ ��
�	��	� ∇n� ��� ��	�	���	 γE×B ��� ���� �	��
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�	��	
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 � ��	 �	����� �	�	������� ���	� ��	 ��� ���� ����� �� ��������� ���	 ��� � ���	� ����
���� �	���� �� ����	� �	�����	� ��	 �� �		�	� �	����� �	�	�������� .��
	 ���� �� �������	 ��
	��	���	���� �%�	�$������, �	 ����� ��� � ���� �	�	��	�
	 �� ��	 	��	 ����������  � #���	
4@ ���	�	�� 
��	� ��	 ����� ���� χ ∝ Aµ ��	�	 μ = −1,− 1

2 , 0� + ���	�� �	�	��	�
	 ��
��	 ��� ���� �� �	*���	� �� �	$	��	 ��	 �	����� �	�	��	�
	� F��	 ���� ��	 
����	� �� ��	
��������� ���	� ��	 �� ��	 ���� ��	 	����
	� %� ��	 �	�� 
������	���� 
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����	� γE×B�  �
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�
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αeq = 3.8�

��	�	 ���� �	
������ �� ���%��	�
	 ���������� �� ��� �	�	$��� � ���	 �� !����	 ��������


�	 ��������� �����	� ����������� ��	 �� 	��
������� $���	 �� ��	� ���������	 %���
 ������	��
���	��
����� %	��		� ��	 �����
�	 ��� �	�� ��������� 
����	��� ���	$	�, ����	 ��	��� ����	
��������� ��	 ���	�� ��� ���%�	 ������� �		���� %��������� ���	� ��� ��	� �!"� ��	 ��	
�������� ��
��� ��	 �	����� 
�� 
����	 �����#
������ 
� ���������	 ��	 %���
 �	����	� �� ��	�	
�!"� ����������� �	 ����� ���� � ��������� �����	�, μ = 0 
��	 ���� �� αeq = 3.8, �
��$��	
��	 �!" 
���� ���	� %� ��$��� αcrit < αeq ��� $��� αcrit %	��� ���� ���	� %����� 
�	
�	���� �� ���� αcrit �
�� �� ����� �� #���	 4:, ��� ���	� αcrit ��	 �	�	���� �	����� ���
�	��	�����	 ��	 ��������� ���	� 6��� %	���	 ��	 
����, ��	�	 ��	 �	����� $���	� ���	 ����
��	 �	��	�����	� +�����������, ��	 �!"� %	
��	 �����	� ��� ���	 ��	*�	��� 
�	 �	����
��� ��	 ����	� fELM ��	�� ���� ��	 �������	����� �� ��	 γE×B ��������� ���	� ���
� ��
%	�� $���%�	 �� ��	 �	��	�����	 �	
�$	�� ���	 ���
	�� +��	� ��	 
���� ��	 �	�	���� �� �	��
���������	����� �	#��	� ���� 	�	��� ���� ��	 
��	 ���
� �	�� �� ����� ��	 %�������� ����
�� ��
�	����� γE×B ��� ��	�	%� �	��
��� ���������, ������	� %� ��		�	���� �� �����	���
���
� �� ���� ��
�	��	 γE×B� 
��� ���
	�� ����� ���� �� αmax ������
�	� ��	 ���������
	*����%���� αeq� 
�	 �	���� ��� ��	 ���	�	�
	 �� �!" ��E	 �� ��� ���	
��� �%$����, �� ��	

�	7
�	��� ��� ��	 	����
	� ��������� ������ ��	 4 �� �!" 
���� ��	 ��	 ���	 �� ��� 
��	��

��� ����� ��� ��	 �!" ��	*�	�
� 
�� 
����	 �	����	 
������� �	�� ��� �����
�	 ����
	��
 � ���� ��
���	 ��	 
����	 �� ��	 �!" ��	*�	�
� ���� ���	�	�� �	�� ��� �����
�	 ����
	� ��
� �	���� �� αeq ��� αcrit 
������� �� ���	�	�� ���	��  � 	��	���	�� ���	� �!"� ��
�	��	 ��
��	*�	�
� ��� ����	� �	����� ���	� ��� ����	� �	����� ���	� ������ �	���� �� ����	� αeq�
 � #���	 4; ��	 
����	 �� fELM ���� αeq/αcrit �� ����� ��� �� αcrit �
�� ��	�	 αeq = 3.8�


�	 ����
� �� � ���� �	�	��	�
	 �� ��	 	��	 ��������� ���	� �� ���������	� ��� �!" �����	�

��	� �� #���	 4A� -	 #�� ���� ��	 ���� �	�	��	�
	 �� ��	 	��	 ��������� ���	� ��� $	��
�����	 ����
� �� ��	 �	�	���� �	����� ��� �	��	�����	� 
�	 ���� ����
� �� $���%�	 �� fELM

���
� 
����	� �

������ �� ��	 ����
� �� αeq, ��
�	��	� ��������� ��	��� � ���	� fELM �� �
��� �	��
	� ��������� ��	��� � ����	� fELM �� 
� ��	 �� ��	 ���	 αcrit < αeq ��	 �	�	����



�1

0

20

40

60

80

100

120

0.0 0.5 1.0 1.5 2.0 2.5 3.0

f E
L

M
 [

H
z]

αeq/αcrit

0

20

40

60

80

100

120

0.0 0.5 1.0 1.5 2.0 2.5 3.0

���� �1� "=# ��
4�
��� 
� 
 �������� �� αeq/αcrit�

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

μ = 0
μ = -1

H T

de
ns

ity
 [

10
19

m
-3

]

time [s]

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

(a)

αcrit = 2.4

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

μ = 0
μ = -1

H T

te
m

pe
ra

tu
re

 [
ke

V
]

time [s]

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

(b)

αcrit = 2.4

���� �6� "�������� �� �
����� *
/ 
�� �
	�
�
���
 *�/ ������ 
� "=# ����
 
� ρtor = 0.92 ��� ��
 �
	
 αcrit ��� ��%
�
��
	
�� �
�
��
��
 �� ��
 
��
 ��
������ 	��
� ��� 9 
�� ��

��	����	 �� ��	 ���	 ��� � ��� 
, ����	 ��	 ���� �	�	��	�� �	����� �	�	������� �	����� ��
� ����	� �	����� ��� ���	� �����

.��
	 ��	 ��������� ���	� ���
���	� �	�	 �� %��	� �� 
����	� �	�� ��� �����
�	 ���������

������� αcrit ���� ��� $��� ��	 ����� n/T � + ��� �� $��� n/T �� 
������� αcrit �� $��
��	 �����
�	 ����
	� �� ��	 ��	����� 	7
�	�
� n0 �� ���
���	� �%�$	� .�
� � n0 $�������� ��
���������	� �� #���	 4>� -���	 
������� ��	 ������$���	� $�� ��	 ���� 	����	�� μ ����� ����
�	����� �� ���	�	�� fELM, � �	��
���� �� ��	 �	����� ����
	 n0 ���� �����#
����� ����
� n/T
�� 
������� ��	����	� + ������� 	�	
� 
���� %	 �
��	$	� %� �	
������� �	�� ��� �����
�	
��������� �� ��	 ���	��

<��%����� ��	 	�	
�� ���
���	� �%�$	 �	 
�� 
������
� � �
	����� ��	�	 αcrit ��� n0 $���
���� ���� ��� ������	 ���� �� ��
� � ��� ���� ��	 �	����� �� ����	� �� 
 
�����	� �� �
��� ��	 �	��	�����	 �� ��	 ���	 ��� � ��� 
� 
��� �� ���������	� ��� ��	 ���	 ���
	� �� �!"

�
�	� �� #���	 �? ��� ��� 	��	 ���#�	� �� #���	 �4�  � ���� �����
���� �
	����� ��	 �	�	����
�	����� ��� �	��	�����	 %	���	 ��	 �!" 
���� ���� �	�
� ��	 ���	 $���	� �	�����	�� �� �

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

de
ns

ity
 [

10
19

m
-3

]

time [s]

μ = 0, n0 = 5
μ = 0, n0 = 8
μ = -1, n0 = 8

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

(a)

H, αcrit = 1.6

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

te
m

pe
ra

tu
re

 [
ke

V
]

time [s]

μ = 0, n0 = 5
μ = 0, n0 = 8
μ = -1, n0 = 8

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

(b)

H, αcrit = 1.6

���� �-� "�������� �� �
����� *
/ 
�� �
	�
�
���
 *�/ ������ 
� "=# ����
 
� ρtor = 0.92 ��� ��
 �
	
 	
�� ��� ��%
�
��
	
�� �
�
��
��
 �� ��
 
��
 ��
������ 	��
� 
�� ��%
�
�� ��
����� 
>��
����



�2

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

de
ns

ity
 [

10
19

m
-3

]

time [s]

H, αcrit = 1.6, n0 = 5
T, αcrit = 2.4, n0 = 8

2.0

3.0

4.0

5.0

0.00 0.02 0.04 0.06 0.08 0.10

(a)

μ = 0

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

te
m

pe
ra

tu
re

 [
ke

V
]

time [s]

H, αcrit = 1.6, n0 = 5
T, αcrit = 2.4, n0 = 8

0.0

0.5

1.0

1.5

2.0

0.00 0.02 0.04 0.06 0.08 0.10

(b)

μ = 0

���� !7� "�������� �� �
����� *
/ 
�� �
	�
�
���
 *�/ ������ 
� "=# ����
 
� ρtor = 0.92 ��� 9 
�� � ���� ��%
�
��
αcrit 
�� n0� ��� ������� 
�� 	
�� �
�
��
��
 �� ��
 ��
�������

0.0

2.0

4.0

6.0

0.6 0.7 0.8 0.9 1.0

de
ns

ity
 [

10
19

m
-3

]

normalized radius ρtor

H, αcrit = 1.6, n0 = 5
T, αcrit = 2.4, n0 = 8

0.0

2.0

4.0

6.0

0.6 0.7 0.8 0.9 1.0

(a)

μ = 0

0.0

1.0

2.0

3.0

4.0

0.6 0.7 0.8 0.9 1.0

te
m

pe
ra

tu
re

 [
ke

V
]

normalized radius ρtor

H, αcrit = 1.6, n0 = 5
T, αcrit = 2.4, n0 = 8

0.0

1.0

2.0

3.0

4.0

0.6 0.7 0.8 0.9 1.0

(b)

μ = 0

���� !�� "��
 �����
� �� �
����� *
/ 
�� �
	�
�
���
 *�/ �
���
 
� "=# ��
�� ��� 9 
�� � ���� ��%
�
�� αcrit 
�� n0�
��� ������� 
�� 	
�� �
�
��
��
 �� ��
 ��
�������



�3 ���� �	�	��	�
	 �� ��	 �	�� ��� �����
�	 ���������� 
�	 ����
� �� ��	 ���� �	�	��	�
	
�� ��	 ��������� �� ����� �� ��	 �!" ��	*�	�
�� ��� ��� 	�����	 
��	 ���� μ = 0 �����
�	�	 fH

ELM/f
T
ELM = 2 ��� ���� ��
�	����� ���� �	�	��	�
	 μ < 0 ���� ����� �	��
	�� -���

μ = −0.5 ��	 �!" ��	*�	�
�	� ��	 ��	 ���	 ��� � ��� 
� ��� μ ≤ −0.75 ��	 ���������� ����
���	����	 ��	 ���	 �����	�	�� ����� ��	�� �� !����	 ��� �, ��	� αeq < 1.6� 
�	 �����	�	�
���
� �� ��� $���	� �	�	 �� ��	 �	�������� �	����� ���
� ����� ��$	 �� ���������� ����
� ��
�� �� �����#
����� ���	�	�� ��� � ��� 
� ���	$	�, � 
����	 �� ne,sep ����� ��� ��	
� n/T ��
��	 �	�	���� �����#
����� ���
	 �� ��� ���	� �	�� ��� �����
�	 ��������� ��	 
����	��
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	 �� ��	 ����
	� �� ��	 �	�� ��� �����
�	 ��������� �	*���	 ���	�	�� ���� �	�	��	�
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 � �� �����	 ������ �� �� ���	� �����	� ���� ��������� �	����� 
��	 ��� 	��	 
�� %	 ��	��	�
���	�	��	����� 
��� �� ��� ��� %�� �� �� ���������� ��	� %��� 
��	 ��� 	��	 �����	�	��
��	 ��� $���	� � ���� ���	$	�, ��� ��	 ���� �	� ���
���	� �	�	 ���� �� 
	������� ��� ��	 
��	
�� ��	 �	�	���� ��	����	 �� $���	� %� � ��
��� �� & ��� ��	 ����� ��	����	 %� � ��
��� ��
@� + ����� ����	 ��� ��	 ���%�� ��	����	 
�� ��(�	�
	 ��	 	��	 �� $�� β ���%��������� ��
�		�����%��������� ���	� 39�5, ���� �� ���	� ���� �

���� �� ��	 ���%����� �������� ��	�	��	�
�� �	
���� :� 
�	 	��	 �	�	���� ���	�� ���� ����� ��(�	�
	 ��	 
��	 ������ ��� ��	 �	�������
�������	�� ���	��
���� 
�� 
�	��	 
����	� �		�%�
� ����� ���
� �	�	 	��� ���
���	� �� 3:5
��� ��	 ��	 �� ��	 ���� ����$����� ��� ���	����	� ���	����� 
��	� ���	 ���� ���
� ����
��	�� ��	 �
���	 �� ���	� 39@5� ��� ��	 ���	���	������ �� ��	 �����	�	� �	�	��	�
�	� �� ���
���� �	� �� ���� %	 	��	����� �� ���	������ ��	 �	����� 
�����%����� ���� � $�������� �� ��	
	��	 �����	�	�� ���� ��$	 �� ��	 
��	 ������� +� ��������� 
�����%����� ��	�� ���� ��	
�	��	�����	 �
��	 �	���� ��$�����
	 �� ���#�	 �����	�� 39&5�  � ��	 ����� �� ��#���	 �����	��
�	 ��$	 ∇T/T = L−1

T = const ���
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����� �� ���%��	��
���������� �	�	����� �� ������ �	���	 ��� ��	
�	� ��	 ���%��	�
	 �
����� �� ���	� �%�	�$	�
�� %	 ���	�	�� 3995� ���	$	�, ��� �
������ 	���%�� � ������ ������$	 �	��	�����	 �	�	��	�
	�

��� �	��� ��� � ����	� �	��	�����	 � ����	� �%�����	 ������ �� �	�� 
�� %	 ���������	�
���� ��	 ���	 ���%��	�� ���$	� 
���
����, ��	 �	�� (�� q �� ��	� �������E	� �� ��	 ���%��	�
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��	�, ��	 ����'��� �	�� (�� qgB �� ����'��� ��
���� ��� � ���	��
����'��� ���	 ���%��	�� ��������� ��	 �������E	� �	�� (�� q/qgB ������ %	 
������� ���
� ��$	� ���%��	�� ���$	 ∇T/T � ��� ����	� ������� ��	 ��������	� �	�� (�� ��	� ����
��� �	�� ���%��	�� ���$	 �� �	*���	� �� ��������� ��	 �	�� ��� �� ��	 �������  � ���� 
��	 �
����	� �	�	���� �	��	�����	 ���� �	���� �� � ���	� 
��	 
�����%����� �� ��	 ����� ��	����	�
��� ��	 ��	���� ����	� 	�	��� Wth �	 �	#�	 ��	 
��	 Wth,core ��� �	�	���� Wth,ped ��
Wth =Wth,ped +Wth,core�

 � � �	������
 ������ ��	 ��������� �� �	���	� ��#���	�� ���� ��� ��	� �� ���	�� �
��	 ���	
����'���, ��	�	���	, �	 �����E	 ��	 ��������� ���	� �����.+
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�	� ��� ��	�	 ��� 
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��	 ����	 ��� ��	 %������� #�	� ��
ρtor = 0.85� 
��� %������� 
�������� �� ����$��	� %� ��	 �� ��	 
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���
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� ��� %		�
��	��	��
���� 	������	� %� � ������	� ���%��	�� �����
�	 ���
� ��� ��	 �����	� ������	 39:5�

�	 �	��	�����	� ��	 ������ ������� ���� ��	 ���� ���	�	�
	� %	��� ��	 �� ��	 ���� �	�	��
�	�
	 �� ��	 	�	
�������� 	*������������ .��
	 T� > T� ���	 �	�� ���� 	�� �� �� ��	 	�	
����

����	� ��� ���	� ����, ���
� �� ��	 �	���� ��� ��	 �	$	���� �� ��� ��� 	�	
���� �	��	�����	�
���� ��� ����� )$	���� ��
�	����� ��	 ���� %� � ��
��� �� @ �	����� �� 4>G �	��
���� ��
��	 
��	 ����	� 	�	��� ���
� 
���	������ �� � ���� �
����� ����	��	� %� �����.+
� ��
Wth,core ∝ A−0.156�

� �������� 	����	���
��
	�

"#��#��$� -	 ��$	 ��� ���� �	�� �� ���� �� �, � ��� 
, ��	 �� ���� βN = 2.5 . . .3.0 ���
��	 �� �	���� βN = 1.4 . . . 2.5� 
�	 ��� �� ��	 #��� ��	 �� �� �%���� � 
��������� �� ����
βN ���� ���	�	�� ������	� ��� �	����� ���	�� %	��		� 4� ��� 49 "-� +� 4? "- �� �	�����
��� �	���� βN �	 ��$	 ���	 ��	�������� (	��%����� ��� �
�� ��� ��� ��� ��������������
��� ��	 ����	� ���� �	� ���� � �	� �
 ����	� 
���	 �� � ����� �� nD/nT ∼ 50/50 ��	 �$����%�	,
��������, ���� �� 
������� ��� ��� ����


�	 ��� ��� �
�� �� 4? "- �� �	����� ��� ��� δ �� ����� �� #���	 �9 /�0 ��� �����#
���
���	�	�
	� %	��		� ��	 ���		 ������	� ��	 �%�	�$	�� -���	 ��� 
 ��	 ��� �
�� ��
�	��	� ��	
�	����� �� 
������� ��	����	, ��	 ��
�	��	 �� �	����� �� � �� �

������	� %� � �	��
����
�� �	�	���� ��	����	�  � ������	� ��	 ����
� �� ��	 ��� ��� ��	� ��� �	���� �� � ����	�
�	����� �� ��	 �	�	���� ���, %�� �� ��	 �	��	�����	 ��� ��	����	 �������� �����#
������

��� �� 	$��	�
	 ��� � ������ ������	 ���� �	�	��	�
	 �� ��	 �	�	����� 
��� ������	 ����
�	�	��	�
	 ��	� ��� ������ � �����	 ���	� ����  � �	 �	�	 �� 	���	�� ��	 ���� �	�	��	�
	
�� ��	 �	����� �� ��� ��� ��	����� �� � ���	� ��� �� ����� ��	�� n� ∝ A0.13 ����	 �� ����
��� ��	����� �	 #�� n� ∝ A0.39� ���� #���	 �9 /�0 �� �� ���� 	$��	�� ���� %��� �
������ ��	
�����#
����� ���	�	��� .�
� � �	$������ ���� � �����	 ���	� ��� �	�
������� �� ���� �%�	�$	�
��	� $������ ��	 �������������� +� ���� δ ��	 ��	����	 �	����� 
������� ���� ��� ��	����� ���
��� ���		 ������	 ����	�� 
��� �� *���	 ���	�	�� ���� ��	 �%�	�$����� �� ��� δ, 
���	*�	����,
��	 
�	�� ������	 ���� �	�	��	�
	 ���� ��� �%�	�$	� �� ��� δ �� ��� �%�	�$	� ������	�
-���	 �� ���� δ ��	 
 �	�	���� �� ����� ����� �� ����	� ��	����	� 
�����	� �� � ��� �, ��	
��	����	 ���	�	�
	� %	��		� � ��� � ��	 �	�����%�	, �	����	 ��	 ����	� ���� ������ F��	
���� �� ���� δ � ��� � ����	� ��	 ����� ���� � ������� �	�	���� �	����� ��� �	��	�����	

�����	� �� ��	 ��� δ 
 ����	�, ���
� ���� %	
��	 ��������� ��� ��	 
���������� �� ��	

��	�

+� ���� βN ��	 ���	���	������ �� ��	 �$	�$�	� ���� �� 	��	 �	��	�����	 ��� �	�����, �����
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�� ��	
 *�/ �����
� 
�
���� ��
 "=# ��
4�
��� ��� �7 #$
��
�	
� �� *
/ 
�� ��
 ����
 �
�
�
�
 �� *�/�

�� #���	 �:, �� ��� �� ��������������� %	
���	 �	 $��� �	����� ���	�, ��� ��� ����	 �� ��	
���	 ���	� 
�	 ���� ���� �� ���
� �	��	�����	 ��� �	����� �� ��	 �	�	���� ��� ��� ���
���		 ������	� ��� ��� �
��	$	�, ���	$	�, �	 ��$	 � ���� �� 
������� ��	����	 ��� ��	 ��

������� �	������ ���� ��	����	 � ������� ��	 ���� �
��	$	� �� ���� ������������� ��� ����
��F' , ��	 ��� ��	����	 � ������ �	�
�	� ��	 �	����� ���	�� �%�$	 4? "- ���� ��F' 
���  <D� �	����� ��� ��� ��� δ�

+ $	�� ������ 
���	������ �� �%�	�$	� %	��		� ��	 �	�	���� ��	����	 ��� ��	 �!" ��	*�	�
��
�����	 �; /�0 ����� ��� � ��%�	� �� ��	 ����%��	 �� 4? "- ���� �� ���	� �	�	���� ��	����	
��	 ����	�� fELM ��	 ������ ��� ��	 ����	 ����%��	 � ������� 
���	������ %	��		� fELM

��� ��	 �	�	���� 
��#�	�	�� ���	 τE,ped =Wth,ped/Psep �� $���%�	 �� #���	 �; /%0� F� 
�	��
�	�������� %	��		� ��	 ������	 ����	� �� �%�	�$	� �� ���� 
���	������, ��������, ��	 ���	��
�	�	���� 
��#�	�	�� ��� ����	�� fELM ��	 ������� ���� � �� ���� ���� ���
� ���� ��$	
��	 ���� ���	����� �!" ��	*�	�
��

 ������ 
������� 
�	 �	�	���� 	�	
���� �	����� ���#�	� ��� ��	 ��� �
�� �� 4? "- ���
��� δ ��	 ����� ��� �, � ��� 
 ���� ���� �� #���	 �A� "��� �������� �� ��	 �	����� �	�����	
�� �, ��	�	 �� ��
�	��	 �� ne,sep ���� ����	� ��� ��	����� �� �%�	�$	�, ����	 ��	 �	�	����
��� �	����� �� 	�	
��$	�� ��
����	��  � � ��� 
 ��� ��	����� ��
�	��	� ��	 �	�	���� ���
�	����� ����	 ��	 �	�������� �	����� ���	��� �� %	 �	�� ��	
�	� ���� �� �, ��	� ��	 ��
�	��	
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δ = 0.21-0.22
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�� �	�	���� ��� �	����� �� � �	���� �� ��		�	� �����	����  � � ��	 ���� ����� ������� ����, ���

 �� �� ��� ���	
��� 	$��	��� )$	����, �� ��� δ ��	 
����	� �� ne,sep ��� ∇n� ��	 ��� ��7
�	��
� ��$	� ��	 �$����%�	 ���� *������ � �� �������� ��	 
���	 ��� ��	 �	�	���� ��� �	����� $���	��

��� �� ���	�	�� �� ���� δ, �� ����� �� #���	 �> ��	�	 ��	 ����	� �	�	���� ��� �	�����
���� ����	� ��� ��	����� �� 
�	���� � �	���� �� ��		�	� �	����� �����	���, ����	 ��	 �	����� ��
��	 ���� �� ��	 �	�	���� �	����� �	����$	�� ��
����	��  � �����
����, �� �� ���������� ����
��	 �	����� �� 
������� ������	 �� ��	 ��		� �����	�� �	���� ��� ��� ������	 ����	� �	����	 �
$�������� �� ��� ��� �� �$	� � ��
��� �� ��  � ��	 ��
���	 �� ��	 �	�	���� ��������� ���	�
���
���	� �� �	
���� &�4 ���� ����� 
���	����� �� �� �����$	� ��	����� 	7
�	�
� ��� ����	�
�����
�	 
���
��� �� ���� δ� F��	 ���� ��� ��� ����%��	 ���� ���� ���� 
������ �
���	����
�� �$����%�	 ���
� ��� �	����$	�� ����	 ��
	�������	� �� ��� �	�����	�� "	����	�	��� �� ��	
!��%	�� ���������
 ���
� ����� �����$	 ��	 �

���
� �� ��	 .)! ���� ��	�	 ��� �$����%�	
��� ��	 ���� ���� �	��

%��
����
�� 
������� 
�	 �	��	�����	 �	�����	 �� ��	 
����	� �� ��� ��	����� �� *���	
������� ��� ���	�	�� δ, �� ����� �� #���	 @? ��� ��	 ��� δ ������� ��� �� #���	 @4 ��� ���� δ
��	��  � �����
����, ��� �, 	$	� �� 
������� �	�	���� ��� �	�����, ��	 �	��	�����	 ����� ����
��
�	����� ��� ��� �� ����� �� #���	 @? /�0� ��� ��� ���		 ������	� ��	 �	��	�����	 
����	�
��	 
������%�	 ��� �
��	 ���� ��	 ��� ��	����� �	$	�, �������� ��	 
����	� �� �	����� �	�	
���	�	�� ��� ��� ������	�� +�� ��	 
����	� �� ��	 �	��	�����	 �	�	���� ��� ��	 �� ��� ��7��
��	 � �	���� �� ���	�	�� �	��	�����	 �����	���� 
�	�	 ��	 �� ����
������ ��� � �����#
���
����
� ��	 �� ��	 �	�	���� ������

��
��� �� ��� �����
� ����� -�	� �������� 	����		���� ���
�	� ������� �� ���� δ ����
��� ���		 ������	� �� ���	 �� #���	 @� ��� ���� δ �� %	
��	� 	$��	�� ���� ��	 �	����� �	�	����
����� ������� ����	 ��� �����	�� ��
�	��	� ��	� ��	 ���� ���%	� ��
�	��	�� +� ��	 ���	
���	 ��	 �	��	�����	 �	�	���� �		�� �� %	 ��	 ���	 ������ ��	 ��
	�������	� ��� ��� ���		
������	�� ���	$	�, ��	 ��
	�������	� ��	 *���	 ���� ���
	 ��	 �	��	�����	 ��	� ��� �	����	 �
��������� �������
	� �	�	���� ��� �� �%�	�$	� �� ��	 �	������ 
�	 ���������� %	��		� ��		�
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(b)JET-ILW: D, 10 MW

δ = 0.21-0.22
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(a)JET-ILW: H, 10 MW

δ = 0.30-0.31
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(b)JET-ILW: D, 10 MW

δ = 0.30-0.31
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(c)JET-ILW: T, 10 MW

δ = 0.30-0.31
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JET-ILW: 10 MW
 δ = 0.31, Γ = 0.8⋅1022/s
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(b)

JET-ILW: 10 MW
 δ = 0.31, Γ = 0.8⋅1022/s
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����� %	 �	#�	� ���� ��	 ���	 �

���
�
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fH
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JET: H, 10 MW
 Γ = 1.8⋅1022/s
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JET: D, 10 MW
 Γ = 1.3⋅1022/s
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JET: T, 10 MW
 Γ = 1.8⋅1022/s
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��	� ��	
�� ��	 ��
� �� ������ �	���$	� ��� �	��	�����	� �� ��	 �	�	���� T� = T� �� �����	�� -���	
���� �� ��	 %	�� ���������� �����%�	 ��� �� ��	 �	�	���� ��� T� ∼ T� �� ���#��	�, �� 
����
�������
	 ����	����
 ��
	�������	� �� ∇T� �� �����#
����� ���	�	�� ���� ∇T�, ���
� ���
%		� �%�	�$	� %	���	 �� +BC 39>5 �� �   �� 3&�5� ���	$	�, �	��� �	�����	� ���� T� �= T�
����	� � �	�����%�	 ����
� �� ��	 �	����� 
�����	� �� ��	 T� = T� ���������� 3:?5� 
�	
��	�� �		�����%��������� ������ ���	� �
��	 ���� ��	 ���� ��� ����, %�� ��	 �������E	� ��
��	 +��$	� ��	*�	�
� ωA� 
�	�	���	, ��	� ����� � 
����
����� 
�������� �� ωA > 0.03 ��
�	�	����	 ��	 ���%�����, ��	 ���� �	�	��	�
	 ������ 
��
	� ���� 
��� ��� ��$	������	� ��
�	���� ��� � ��� � 34&5, ���� ��	 �	���� ���� ���� � $	�� ����� ���� �	�	��	�
	 �� 	��	
�	�
���� ��	�� �		�����%��������� ��	���� ���	$	�, ���� ���� �	�	��	�
	 ��� ��� ���� ��7
�	��
�� 	������ ��	 �%�	�$������� + ������� ��
���	 �� ����� �� ��� ���� �	��  � #���	 @;, ���
	�
� ������	 ����, %��� ��� ��� ���� δ 
��	� ��	 
�����	� �� ��	 K' �������� %��	� ��
��	 	��	���	���� ���#�	�� 
�	 ����� $�������� �� ��	 ���%����� %������� ���� �������������
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����� ���� ��	 �	�	����� ���
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! "
�	���
�� �# �������� �������
��

+ ��6�� ��7
���� �� �	�
��%��� ��	 �	�	���� �����
� ��	�� ���� ��	 ������ ������
�� ���
���	 �� ���� ������ �	���� �� ��	 ��	�	�
	 �� �!"��  � ��
� � ��������� ��	 �	�	���� ��
��� �	
	������� �� ��������� 	*����%����� ���	$	�, ��� ��	 ��
� �� � 
����	�	 ���	� �� ��
���	� �����	� ���� %	���	 �� �!" 
���� ��	 ������ ���� %	 *���� ���������� ���
� ��	�
������ �� �� �	�	����	 ��������� 
�	7
�	��� ���
� 
�� %	 
�����	� ���	� ���	�	�� 
�����
������ B���������	��, �� �����	 �!"� 	���� ���
� �����	 ������ �� ��	 �	�	���� ���#�	�
���
� ��	 ��������
���� ���	�	��	�� �� ��	 ��������� ����	���	�� 
� %	 �%�	 �� ���
��� ��	
�	�	$��
	 �� ��� �%�	�$������ ��� ���� ��	� �	�
� �� �%��� ��	 �����
� �	
������� ���	��
����� ��	 �	�	���� �	 �������
	� � ������
 �!" 
�
�	 ���	� �� �	
���� &�4� 
�	 ���	�
��	� �� �����	� �!" ���%����� ����� ��� �������	� ��	 �!" �	
�$	�� %��	� �� � 
����
��
�����	�� ��������� �����	��	� %� γE×B ��	������ 
�	 ���	� ��� �� ��	��
��$	 
���%�����
%�� ��
���	� 	����� �����
� �� �	�� ���	��������� ��	 ���	��
����� ���� ����� ��$	�� ��	
�	�	����� 
�	 
���	���� �	
������� ��	 ��	 ��������� ���
� �� 
����
�	���	� %� ��	 �����
��� ��	����	 �����	�� ���� 
�� %	 �
��	$	� �� ��������� 	*����%���� αeq � ��	� �!"� ��	
����
�	� �� � ��� ��	 
����
�� ��	����	 �����	�� αcrit ���
� �����	�� �� �!" 
���� ��� ��
�����	� ��%���������  � ��	 ���	� ��� � #�	� αcrit ���� αcrit < αeq ��	 ��������� ����	��
��	� ��	 ���	�	$��� �� �	�	������� ��	 �	�	���� ��	����	, %�� ��	 �!" ��	*�	�
� �� ��������
�	�	��	�� �� αcrit/αeq� 
�	 �����	� ����� ��	 αcrit ��� αeq, ��	 ����	� �� fELM� -��� ���

�	����� ����
	� � �	�� �� �����
�	� � ��	 �
��	$�%�	 αeq ��
�	��	� ��	 �� ��	 �	�� ���%���������
�� ��������� $�� γE×B, ��� �� αcrit ��	� ��� ���	 �� � ������� �������, ��	 �!" ��	*�	�
�
��
�	��	�, ���
� �� � %���
 ����	��� �� ���	� �!"� 34&, :�5� ���	���	������ �	 �%�	�$	 �
������ 
���	������ %	��		� ��	 �	�	���� 
��#�	�	�� ���	 ��� ��	 �!" ��	*�	�
�, τE,ped

�	��
	� ���� ��
�	����� fELM�  � ��	 ��
���	 �� ��� ���	� � ����	� fELM �	��� ��	 �!"
���%����� 
���	� � ����	� ��� %	��		� ��	 ���	����%	� ��������� 	*����%���� ��� ��	 �!"
�����	� αcrit� 
�	�	���	, ��������� ��	 
���� 	��	
� � ���	� �	�	���� ��� ��� ����	� fELM�
F��	 ���� ��	 �!" 	�	��� ����	� ��	 �������	� �� ���� ���	� %�� ��	� �� ��� ��$	 �� ����
�
�� ��	 �	�	���� ��� $���	�� -	 #�� ���� ��	 �!" 	�	��� ����	� �� ��	 ���	� �
��	 ��$	��	��
������������ �� ��	 �!" ��	*�	�
�� '��� �� ��	�	 ���	� 
����
�	�����
� ��	 
������	�� ����
	��	���	���� �����	� �� �!" ���	� ����	� ���� ���	�	�� ������	� 34?, 4&5�

 � ��� �!" 
�
�	 ���	� ��	 ����	 $�� ���
� ��	 ������	 ���� 	��	�� �� ��	 �	����� �	�	�
�������� ��� 
������� �	����� ����
	� ��� �� ���������� ���� �	�	��	�
	 �� ��������� ����
����� �	�� �� ��������� 	*����%���� �	 �	� ����	� �	�����	� ��� ���	� ����	�� 
��� �� ��	
�� ����	� �	�� ��		 ����� �� ��	 �����	� �	������ ��� ��	�	���	 � ����	� ��	����� 	7
�	�
��
���	$	�, ���� ��	 	����	�
	 �� �!"� �	 ��	 ��� �� ��������� 	*����%�����  � ��
�, �� ��	�	
�� �� ���� �	�	��	�
	 �������
	� $�� ���%�����, ��	 ����	� αeq � ��	 �� �����$	� ��	�����
	7
�	�
� �� ���	� ���� � ����� 6��� �	���� �� ����	� fELM� ��� ���	� ���� fELM �� ���	�
�%�	�$	� �� %	 ����	� 34&5� +�������, ���� �� ��
	�� 
������	��, �� ��� ��� �� �� ��� � $	��
������ �����	���

+ �	� ���������� ���� �	 ��	� �� ��	$���� �����	��� 34&,49,:@5 �� ��������� ��	 ��������
	
�� ���	� �!" ��������� �� �	����� ��	 �	�	���� ��� ���� ���� ��	 ���	 ��� ��7�� ��� �������
.)! �	�����	� �	 	��	
� ������� �����
�	 (�� ���	�� <���	*�	����, � ���� �	�	��	�
	 ��
��	 ��������� �� �	*���	� �� 	������ ��	 ����	� �	�����	� �%�	�$	� ��� ����	� ���� ��� ����,
�	����	 ��	 ���	� ��	����� 	7
�	�
� ��	 �� ��	 �����	� �	�� ��		 ����� ���	$	�, ���� ��	 �	�
���� �	 �
*���	� �� �����
���� �� ���� δ, �	 ��$	 	$��	�
	 ���� ���� ���������� ����� ���
%	 �

����	�  � ��� ��������� ���	� �� �� �������� ������� �� �������
	 � ���� �	�	��	�
	
���
� ��$	� � �	$	���� �� ��	 �	����� �� ��	 ��������� �����	� 
��	, 6��� �� �%�	�$	� ��
	��	���	��� 
��� ���� ��	��� � ����	� �	�	���� ��	����	 ��� ����	� ���� ��� ���	����	

������� �����	�	��� ���	$	�, ��	 �	�	���� ���	�� ���� ��
�	����� ��	����	� +�����������,
��	� �
��$����� ��	 �!" 
���� ���	� �	 ��� �	� ����	� fELM ��� ����	� ����, %	
���	,
�	 �	��
	� αcrit/αeq� ���	���	������, �	 �
������ �%�	�$	 � ��������� ��� ��		�	����



.3 �� ��	 �	�	���� �	����� ���� ��
�	����� ���� ��� ������� .)! �	�����	�� 
��� 
����	 ��
�	�	���� ����� �� �����#
����� ������	 �� ��	 ��
	�������	� �� ���� δ ��	� 
�������� � ���

� +� ��� δ ��� %	��		� � ��� � ���� 
����	 �� �	�� �������
	�� 
��� ��������� �� ��	
�	�	���� ���� ����	� �	����� �� � ����
�� �	����	 ��� � �	����� �	�	������� %��	� �	�	����
����� ���	� 3:&5, ���	$	�, ���� �	����	� ���� �	�� �� ��� ������ ���� ��	�� 3&:, :98:A5�
 � ��� �	�	���� ���	� ���� �	����� �	�	������� ��	 ��������� �� ��	 �	�	���� �� 
���	�
%� �� �����$	�	�� �� ��	 ��	����� 	7
�	�
�� F��	 ��� �	#������ �� ��	����� 	7
�	�
� ���
�� ��
�	��	 �� �����
�	 ����
	 ������� 
������� nsep� 
�	 ����	� �� ��������� %	
���	 �
����	� nsep �	��� �� �	��
	 γE×B ��� ��	�	���	, ��
�	��	� ���������� .� �� ��	 ���	� ��	
	��	���	������ �%�	�$	� ����
� �� ��� 	��	
�	� �� %	 �
��	$�%�	 ���� ��
�	����� ��	 ���
��7��� 
�	� ��	 �	
�
���� �����
�	 (�� �	����� � ���	����� 	����������, �� ���� ��
�	��	�
���� ������	 ���� �� ����� ���	� ��	 	�	
��$	 �����
�	 ����
	� �� ��	 �	�	����� -���	 ��	
�	(	
��$��� �� ������	� ������	� �� ������	� �����
	� ���		� ��
�	��	� ���� ���� 3:>5, ����
	�	
� �� �	����$	�� ����� ��� �	����	� �	����� ���	����� �� �	*���	� �� ���	�� ��� �	�	$��
	�
F	$	���	�	��, ��	 ����
� �� ��	 �	����� ���#�	 �� ���	 �������
	� �� ����	� �������������
��	�	 ��	 ���� 
�	����
	 �� �	��
	�� <���	���	� ���� ���� 
����	 �� ���� 
�	����
	 �	 �%�	�$	
� �	��
���� �� ��	 �����
�	 (��� ������� ��	 ���	� ��$	����� 
��� 
���� ��$	 �� ��	
� ��
��	 �	
�
���� (��	� %�
� �� ��	 ���� ������� D	
	�� .)!K.� 
�D ����������� ��� ��

������� ����	�� ���� ����	� ���� ����� %	 ��$���%�	 �� ��	 ������%����� �� �	������ �� ��	
��$	���� 3;?5� 
��� �� �����%��	� �� 
������� 	�	
��$	 �������� �� �	������ ���� ���	�	��
����	� ��	� ��	 �������� �� �������	� %� 
����	�	�
����	 ���
	��	��

.���� ��	�	 �	
������� ��	 ��� ��7
�	�� �� 	������ ��	 �%�	�$	� 	��	���	���� ���#�	� ����
���	�	�� ������	 ����	�� -	 �	*���	 � 
����	 �� ��	 �	�	���� ��	����	 ���� ���� ��� ����
���
� �� ���� �
��	$	� %� � ���� �	�	��	�
	 �� ��	 �!" ���%����� �� αcrit� -���	 ��	 ��	��
���	����� �	 ����	� �� �	
���� : ��	� ��� ������� ��
� � ���� �	�	��	�
	, ���� ���	�

�	���� ����� �� 
�����	 ��	 	��	���	���� �%�	�$������� ���	$	�, ���%����� ���	����� ������
���� ��	 �	�����$��� ���� �

���� ��	� ��	�� � ���� �	�	��	�
	 �� αcrit 3:?, ;45� .�
� �
�	�����$��� %��	� ���	� 
���� %	 ��	 %���� ��� 	��������� ��	 	����
	� ����
� �� ��	 ����
��� ���� �� ���� ��� ��	����� ���	�� F	$	���	�	��, � ���� �	�	��	�� αcrit ����	 �� ���� ���
��7
�	�� �� 	������ ��	 �%�	�$	� ���#�	 ���	�	�
	��  � ��	 �	�� ��� �����
�	 ��������� ��
��	 �	�	���� ��	 
����	� � ��	� ���$	� %� �� �����%����� ���
� ��	
�� %��� �	�� ��� �����
�	�
� ��	� � 
����	 �� αcrit ������ ��	
� �	����� ��� �	��	�����	 �� � ������� �������� 
���
�� ��� 	�����	 �%�	�$	� ��� ������������� 
����	� �� �� ���	$	�, ��	 �	����� ��
�	��	� ����
���� ��� ���� �� 
������� �	��	�����	� ���	�	�
	� �� ��	 ��	����� 	7
�	�
� �� �	�����
����
	 ���� ���� ��� ���� 
���� 	������ ����� +��	�����$	��, ��	 ����� �		� ���	�	��
���� �	�	��	�
�	� �� ��	 �	�� ��� �����
�	 ����������  � ������	�� ���� �����������
	��
��� ��
� ���� �	�	��	�
�	� �	�	 �	����	� 3�:5, �� ��	 �	�� ��������� 
����	� ��	 ����
�	�	��	�
�	� �� ���%��	��  
C ��� �	�
�����
�� ��������� 
��
	� 	�
� ���	�, ����	 �� ��	
�����
�	 ��������� ��	  
C ���� �	�	��	�
	 �	����� ���������  � ����	�� �	�� ��� �����
�	
��������� ��$	 ��	 ���	 ���� �	�	��	�
	, ���� ��	� ��� ����
� ��	 ��	��!" �	�	���� ���
$���	� �� ��	 �	�	���� �� ���%����� �����	��  � ��
� � 
��	 �	 
����� �	��
	 � ���� �	�	��	�
	
�� ��	 �	�	���� ��������� 	��	���	������ ���� ��	��!" �	����	�	��� ����	� ���	$	�, ��
� ������
 ��	��
��$	 �	�	���� �!"�
�
�	 ���	� �	�	 �$����%�	, ��	� ��	 �	����	�	��� ��
��	 �!" ��	*�	�
� ����� ����� �� �	��
	 ��	 ���� �	�	��	�
	 �� ��	 �	�	���� ����������


�	 �	�	���� ���	� ���� ��	��� � ��
���	 ��� ��	 ������
� �� ��	 �	
�$	�� ���	� �� �!"

����� 
�	 ���	� �	����� ���� ����������	� �� ��	 �	����	� ������
� 
�	 �	��	�����	
�	
�$	�� ���� �� ��� ����	� ��
� ����	� ���� ��	 �	����� ��� ��� � ����	� �	
�$	�� ���	
���	������� B���������	��, ��	 ��� ���	 �	�������� �� ��	 �	����	�	��� ��	� ��� ����� ���
� ���	 �	����	� 
����������


�	 ���	�	�
	� ���� ������	 ���� ���
���	� �	�	 ��	 ���� 
������	�� ���� 	������	� �� ��	
�	�� ��� �����
�	 ��������� ��� �	�	���� �����	� �� 
������� βN �� ����	� ������ 
���	�� ���
����	��
 #	�� 3:?5, ���
� �� � �	���� ���	�	��	�� ���� ��	 ��	 ��	�	��	� �	�	 %�� ����
������� 
��
��������  � ��	 ���� �	�������
	 ��%��� ���
����	� 3@>5 ��	 #��� �!" 
����
���	� ��	 	���� �� �����	 ����	�� �� � �����#
����� ����	� ��	����	 �� 
 
�����	� �� �,
�	����	 � $	�� ������� 	$������� �� �	����� ��� �	��	�����	 �� ���	� ��	����	�� 
��� �� ��
	��	���	���� ����
���� ��� � ���� �	�	��	�
	 �� ��	 �!" ���%����� ����� ��� � ���%�����
�����	� �	�	�����



.4

0.0

0.5

1.0

1.5

2.0

2.5

0.0 0.3 0.6 0.9 1.2

W
th

,c
or

e 
[M

J]

Wth,ped [MJ]

H
D
DT
T

0.0

0.5

1.0

1.5

2.0

2.5

0.0 0.3 0.6 0.9 1.2

(a)

JET-ILW: 1.4 MA, 1.7 T
 10 MW, low δ

0.0

0.5

1.0

1.5

2.0

2.5

0.0 0.3 0.6 0.9 1.2

low δ
high δ

W
th

,c
or

e 
[M

J]

Wth,ped [MJ]

H
D
DT
T

0.0

0.5

1.0

1.5

2.0

2.5

0.0 0.3 0.6 0.9 1.2

(b)

JET-ILW: 1.4 MA, 1.7 T
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�
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�
��� ��� �7 #$ ��
�	
� �� 
 �
�
��>�� ��
� ��� ��%
�
�� ������
� ���� ��� δ ���� �� *
/ 
�� 
��� ���� δ ��
�	
� �� *�/�

+�������, ���� ��	 ���#�	� �������� ����	 �	 
����� *������� ��	 ���� �	�	��	�
	 �� �	��
��� �����
�	 ���������� 
�	�	 ��	 �%�	�$������ �� ��$��� �� ��
� � ���� �	�	��	�� ����������

�	 �	(	
���	�	� �	����	�	��� ����	� � �����#
��� ��
�	��	 �� ��	 ��	
���� ���	� ��� �

�����	� �� 
 ���
� ���	������� 
���	������ �� �� ��
�	��	� �	����� (�
������� �	$	� ��
��	 �	�	���� ��� ���	� ���� ��� ����� �����	� �%�	�$������ �� ��$��� �� �� ������	 ����
�	�	��	�
	 �� ��	 ��������� ����	���	� ��	 �	���	� �� !����	 3�&5 ��� !�� ����������� 3;�8
;&5 ��	�	 ��	 �%�	�$	� ���� �	�	��	�
	 
����� %	 	������	� ���� �!" ���%������ 
�	 	��	
��������� ���	� �	 ���
���	� ��� �%�	 �� �	�����
	 !�� ���������� ���	 %	��$����, ��	�	
��	 ���� �	�	��	�
	 �� ��	 ���	����� ��� �������
	� $�� ��	 �	�� ��� �����
�	 ����������

$ ���� 	����	���
��
	�


�	 ����
� �� ��� ��7�� ��� ������� �� ��	 �	�	���� ��� ���
���	� �� �	
���� 9 �� %	��	�
���	������ ��	 �����
� �	
������� �	����� ��	 �	�	����� F�� �	 ���� ������	 ����	 �	�	����
�����	�	� �
��� �� �����$	 ��� ���	��������� �� ��	 
��	 ������, �� �����
����, ��	 ����
�	�	��	�
	 �� �	�� ��� �����
�	 ����������

����
� βN �#��#��$ &βN < 2.5'� 
�	 ��6����� �� ��	 ���� ��� 
���	
�	� �� 4? "-
�� �	����� ���	� ��� ��	 ��� �
�� �� ��� δ ����� �� #���	 @> /�0 ���������� ��	 ������

���	������ %	��		� ��	 �%�	�$	� 
��	 ��� �	�	���� ����	� 	�	���	�� + ��6�� ����%�
�
�� ���� ��%�	� �� ���� �� ���� �� �� �	�����	� %� ������	 ���� ��� ��	 �� ��	 	��	�
��	

���	������ �� ��� ��7
�	�� ��� �� 	��	���	���� �	�������� �� ���� ��� �	�	���� ����
��
-��� ��	 ���������� ���� �� ���� δ ���� 
���	������ �� %���	� ��� �� ����� �� #���	 @>
/%0 �	 #�� ���
�	� �	�	���� ��	����	� ��� ���	�	�� ���� ��� ����	�� 
�	 �
 ������� ��	
����� ���� ����	���	� �� ��	 
 ����	� ���� ��	 � ������� �	������� ��	 
��	 ��� �	�	����
��	���� 	�	���	��

����������� ������ 
�	 ���#�	� ��� �, � ��� 
 ������� ���� �� 	����		���� ���
�
��	 ����� �� #���	 &?� +� 	��	
�	� ���� ��	 �$	�$�	� ���� ��	 �	����� ��
�	��	 ��� ����	�
������	 ���� ��������	� �� ��	 
��	, ����	 ��	 �	��	�����	� ���
� ��	 ���
�	� �� ��	
�	�	���� �	���� ��	 ���	 ������ ��	�� ��
	�������	� ��� T� = T� ��� ���� �� ��	 ������� 
�	
�������� ��	 � ������ ���� ��F' �� ��	 ���	 �� ��	 ��	 �� ��	 
 ������ ���� 
�F' �

��� �� 	��	
�	� %	
���	 ��	 ����	� ���*�	 ����� ���� F' ��6	
���� ���� �	�$�	� �	������
�� ������ 
���	����	� %� ��	 ����	� ��	���� �� ��	 ������ ���� ��	 ����	� ���� ��� �����

�	 �������� �� � �� ����	� %	
���	 ����	 ������� �	�	 �	��	� ���� ��F' ��� ��	�	���	
��$	 � ���*�	 ����� ���
� �� ����	� �	����$	 �� ��	 ������ ��	���� 
�����	� �� ��$��� ��	
���	 ��	
�	� ��� F' ��� ���� ����� +� 	��	
�	� ���� ��	 ���
�	� �	��	�����	 ���#�	� ��
����	����
 ������	 �	�	��	�
	 �� �%�	�$	� �� ��	 	�	
���� ��� ��� �	�� ������$���	� ����� ��
#���	 &4� -	 #�� χi ∼ 2χe ��� ���� �� ��	 ������� F��	 ���� 
���	 �� 	��	 ��	 χi $���	� ��	
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���� 	
��� 
� �7 #$� ��� δ 
��
��� �
� ��>�� ��� ��%
�
�� 	
�� ��� 	
��
�� ��
 ���� ���
� �
��
�
�� ��
 ���
��
����
�� 9� +,(-17-2� 0� +,(-17&5�
�� +,(-61-2�

�� ���	���%�	 �� ��	 ��
	�������	� ����	�� %	
���	 �� ��� �	��	�����	 �����	��� ��	 �$����%�	
��� ��	 �	�	�����

	������� ������ + ���
� �� ��	 %������� �� ��	 �	�	���� �� �
��	$	� ��	� 
�������� �
��� δ 
 ������ �� ���� δ � ������� ���� ��	 ���	 �	����� ���	� %�� ���	�	�� ��� ��	������

�	 ����	� ��� ��� �� � ��	� ��� 
���	 � �	��������� �� ��	 �	�	���� ��	 �� ��	 ���� δ
����	 �� ���
���	� �� �	
���� 9� 
�	 �	������� ���#�	� ��	 ����� �� #���	 &� ���
� ��	
	���	�	�� �	�� ���
�	� ��� n�, T� ��� T� ��� %��� ������	� ���� T� = T�, ����	 ��	 ��������
�������� �� ����	� �� � ��	 �� ��	 ��F' �	������ �����	 &@ ����� ����� ��	 	�	
���� ���
��� �	�� ������$���	� ���� ���	 ��� ��	 �	�	���� ���
�� -	 #�� χH

e ≥ χT
e , %�� ����� �������

������ ��	 ��
	�������	�, ����	 χH
i = χT

i �	����	 ��	 ��
	�������	� �� ∇T�� +���� χ� �%���
���
	 �� ���� �� χ��

���� βN &βN > 2.5'� ���	����� ��	 ���� �	� �� ����	� ��	����	 �� ��� �� �������� �������
�� ��� 4? "- ��� �	���� βN �� ���
���	� �� �	
���� @, ��	�	���	, �	 ��$	 �	�	� 
���������
�������� 
��� ��
���	� ��	 
 ����	 /�KF>>��&0 ���� βN = 3.0 ���
� �� 
�����	� �� � �
����	 /�KF>;94�0 ���� ���
�	� �	����� ��� βN = 2.8 ��� � � ����	 /�KF>:A@?0 �� ���	�
�	����� %�� ���
�	� ����� ��	���� �	�	���� ��	����	 ��� βN = 2.5� +�� ����	� ��$	 ��	
���	 F' �	����� ���	� �� 4@ "- ���� ������� ���	� �	����� ���#�	� %�� ����	� ������	�
���	� �� 
 �� ���
���	� �� �	
���� �� 
�	 �	������� ���#�	� ��	 ����� �� #���	 && ��� ��	
�	����� ���
� ��� �� #���	 &9 ��� ��	 ��	����	 ���
�� +� ���� βN �	 #�� T� > T� ��� %���
������	 ����	�� 
�	 
��	 �	��	�����	 ���#�	� ��� � ��� 
 ��$	 ������� �%�����	 $���	� ��
���������� 	$	� ��� ���	�	�� �	�����	�, ���	$	�, ��	 
 ����	 ��� ���	� �	�	���� �	��	�����	�
��� �	����	� ��		�	� �����	��� �� �����
���� ��� T� ��� �	�
�	� ����	� 
��	 T� ���� ��	 �
����	�� <�������� ��	 � ����	� ���� 	�
� ���	� ����� ���� ��	 ����	� �	����� ���� �	�����
�� � ����	� ��	����	 ���
	 ��	 �	��	�����	 ��	� ��� ���� 	*��$��	�� �� ��	 �	����� ��
�	��	�
.��
	 ��	 ��������� �� ���	�	�� ��� ��	�	 ����	� �	 ���� ��$	������	 ��	 �	�� ������$���	�� ���
��	 �	����� ���
� χ� ��� χ� ��	 ����� �� #���	 &: ��� � ��� 
 ���
� ��	 %��� ��	 ���	 �$	�
��	 ����	 ������ ������ ��	�� ��
	�������	� ��� ��	 ���	�	�� ������	 ����	�� +�����������
χ� ∼ χ� �� ��	 
��	� ��� ��	 �	�	���� ��	����	 ���
� ����� �� #���	 &; ��	 ��������� ��
������� ��� χ� /�0 ���
� �� ���
�	� %	��		� � ��� 
, ���	$	�, �� �� ���	�	�� ��� ��	 ����
/%0 ��	�	 ��	 � ����	 ���� ���	� n� ��� � ��
� ����	� χ� ���� ��	 
 ������� χ� �� ����
���	�	�� �� ��	 ���	� ����� �� ρtor = 0.4 . . .0.8�

������ ��������� ��� ��	 	����	 ����%��	 ��	 
��	 ����	� 	�	��� �� ��� � ���� �	���

%	
���	 �� ��	 ���	�	�� �	����� ���	�� ���
� ��������� ��$	 ���	�	�� Wth,core� 
�	�	���	,
�	 ��	 ����� ��	 
��	 	�	��� 
��#�	�	�� ���	 τth,core = Wth,core/Psep�  � #���	 &A ��	
�	�	��	�
	 �� τth,core �� ��	 %������� 
��������Wth,ped �� ���������	�� ��� � ��� � �������
��	�	 �� � 
�	�� ���	�� 
���	������ �� τth,core ��� Wth,ped ��� � �	
	�� �$	���� ��� �	�	����
	�	���	� %	��		� ?�: ��� 4�? "�� � ������� 	��	�� �� ���	� �	�	���� 	�	���	� ��� � ��
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�������� ��� ��
 ���
 ��
�	
� 
�
��� 
� 
 �������� �� ��
 ���	
��@
� ��
����
 βN

*
/ 
�� ��
 �

�  �� �� ����)��	 ����� 
� 	�� �
���� *�/�


��������� 
�	 �	���� �� ����� �� #���	 9@ ��� ������ %	 
�����	� �� ��� 
����	����� %��	�
�� 	��	���	���� 
��	 ���� ����� �� #���	 &A� ���� ���� 
��������� �� %	
��	� 	$��	�� ����
�����.+
� �� �%�	 �� �	�����
	 ��� �	� �	����	� �%�	�$	� 	��	���	������, ��	 
���	������
%	��		� ��	 
��	 
��#�	�	�� ���	 ��� ��	 �	�	���� ��	����	, �� �	�� �� ��	 �	�������� ��
�
 ��� 
 ������� ���� ��	�� � ��� � 
����	������ �� ���� �	�	���� ��	����	�� �	����	
��	�	 ���		�	��� ���� ����	����
 �	$������� ��	 �������, �� �����
����, �� ����	� Wth,ped ��
��	 ���� �� � ���
��������� �� ��	 	��	���	������ ���	�� ��	�� �� � ��� � ����� F��	 ���� ��
��	 ���	 �$	�	��������� �� ��������� ���	��� ����� ��� ��	 ����$����� ���� βN ���#�	��

��� �����	� ��$	��������� �� ���� ���
�	���
� �	 �����E	 ��	 �	$������ �� ��	��
�	� ��� �%�

�	�$	� 
��	 	�	���	�W
(TGLF)
th,core /W

(EXP)
th,core� -	 #�� � ������ 
���	������ %	��		�W

(TGLF)
th,core /W

(EXP)
th,core

��� ��	 �������E	� ����� ��	����	 βN �� �	�� �� ��	 �	�� (�� �� ����'��� ����� Qtot/QgB

�� ρtor = 0.5 �� ����� �� #���	 9&� �����.+
� �$	�	������	� ��	 ��������� �� ���� βN
�� ��� Qtot/QgB, ��	�	 ��	 ����	� 
���	������ �� � 
���	�	�� �� ��	 ���%��	�� ���	������

� ���� ���������� ������� �	������� %��� 
���	������� �	 ���	� ���� ���� βN < 1.0 ���
$	�� ��� Qtot 6��� ��� ���� 
���������� 
�	�	 ������� ��	 �� Pheat ∼ 3 . . . 5 "- ���
� ��

���	� �� ��	 !�� ���	� ���	����� ���� ��	 %��� �� ��	 ����	� βN ����	� ���� Pheat ≥ 10
"-� �����.+
� ���� �$	�	������	� ��������� ��� ��	�	 �������, ��	�	%�, %�	����� ��	
βN 
���	������, ����	 %	��� 
������	�� ���� ��	 Qtot/QgB ��	�
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� ������ �
�
� ��� ��
 0 �
����� 
�� ��
����
 	
��� ���� � 
� ���� βN *
/� ������ �
�
� ���
��
����
 	
��� ���� 	
�� ��� 	
�� 
�� �
����� �
��
������ ��
 ����� ��

� cs �� ��
 ���	
���
���� �� �
����
�
� ����
����
�������� 	
�� ��� 	
���

#� ��
� ������	
"


� %	��	� ���	������ ��	 ���	����� �����
� ���
	��	� ���������� ��	 ������� ���
���	�
�	�	 �	 �	����� �������	��
 ������������  � ���� �	
���� �	 ��	�	�� ��	 �	����� �� ��
��
���	�� ��� ������	�� �������	��
 ����������� ���� ��	 ���� 
��	 3;>5� ���� ���$	� ��	
��������	��
 =����$ 	*������� 3A?,A45 ���
� ��	 
����	� ���� ��	 "���	�� 	*������� ������
� δf ��������������  � ��	� � �	� �� #	�� �����	� 
��������	� {x, y, z, v‖, μ} ��	�	 z ��
��	 
��������	 ����� ��	 ����	��
 #	�� ���	, x �� ��	 ������ ��� y �� ��	 %������� ��	,
v‖ �� ��	 ������	� $	��
��� ��� μ �� ��	 ����	��
 ���	����� 
�	 ����������� ��	 
����	�
��� �� ��	 ��
�� ����� ����� �	������
 �	��	��� �� ���
���	� �� �	
���� @, 
��������� 	��	�
$�� � !������'���E���� ��	�����, #���	�β 	�	
�� ��	 
�����	�	� ���� %��� B⊥ ��� B‖
(�
��������, ���	��
 ���� ��� 	�	
����� ��	 ��	 �	������
 ���� ������ ���	���� (�� ��	��
γE×B 	�	
�� ��	 ���� 
�����	�	� ��� �	�	
�	� ������������ ���� ���� ��	 ��� 
�����	�	� ��
��	 �������� ��	����	 ���#�	� ��	 �	����$	�� ������� �� ���
���	� �� �	
���� �� F� ��������	�
��$	 %		� 
�����	�	� �� ��	 ����������� ���
	 ��	 	��	���	���� $���	� �� Zeff ��� ��	�	
����	 ��	 ��� (Zeff < 1.5)� 
���
�� ���� �����	�	�� �� ��	 �������	�� ����������� �	�	
�� �������1 �	��	���
���� %�� ��E	� [Lx, Ly] ≈ [190, 200]ρs, ����	����
	 ���� ���
�	��E�����
[nx, ny, nz, nv‖, nµ] ≈ [384, 64, 40, 48, 16] ��� 0.15 � kyρs � 1.00�  � ��� ��	 �����������, ��	
������	�� (��	� ��	 ������ �	���	� �� ��	 	�	
��������
 ���	����� φ (�
�������� ����	 ��	

�����%����� ���� ��	 ������	� ����	��
 ���	����� A‖ (�
�������� ��	 �����	� /∼ 5% �� ��	
����� (��	�0� -	 ��
�� ��	 ��$	���������� �� ��	 ���� βN ���
����	� ��	�	 �����.+
�
�$	�	������	� ��	 ��������� �� ���
���	� �� �	
���� >�4�

������ ���� ���������� <���	 �� ��	 ������ 
	��	� �� ρtor = 0.3 �	 #�� ��	�	 ���� βN
������� ���	���� ���%�	 ������� �����%�����	�, ���� �� ��	 �� ������ �" ���%���������� -�	�
�	 ��$	������	 �� ��� ������ ρtor = 0.5 ��� �	��	�����	 �����	��  
C ���%��	�
	 %	
��	�
��������� 
�	 �������E	� ������ ���	� γ(a/cs) ��� ��	 
 ��� ��� � ������� ��	 ����� ��
#���	 99 /�0, ��	 
 ��� � ������� ���� ���
�	� �	�	���� �	����� ��$	 $	�� ������� γ(a/cs)
����	 ��	 � ������ ���� ��	 �	�	���� ��	����	 ���
� � �� ���	� �	����� � �� ����� ���� � @?G
����	� ������ ���	� 
�	 ���� ���$	� �� ���� ���	�	�
	 �� ��	 �	������  � #���	 99 /%0 ������
���	� ���� ���	�	�� ����������� ��	 ����� ��� ��	 ��	����	 ���
�	� � ������, ��	 �� ���
������� ����, ��	 ���� ��	 ���� ��� ������	 ���� 
����	� �� 
 ��� ��	 ���� ��	 �	�����
�� ��	 
 ������� <������� �� � ����	� ������	 ���� �������� �	��
	� ��	 ������ ���	� /9G0
��� ��	�	%� �	��	���� ��	 ����'��� ���� �
����� ���� ��	 ��������������  �
�	����� ��	
�	����� ��� � ���	 �����#
��� ����
� �� ��	 ������ ���	� /�?G0�

(��)������ ���� ���������� 
�	 ������ ����
� �� ��	 �" ���%��������� �� ���� �%�	�$	�
������	����, �� ����� �� #���	 9:, ���� � β� �� ∼ 2G ��	 ���	��	� �	�� (��	� ��	 
���	 �� ?
��� � ��� 
� 
��� �� ��	 
��	 	$	� ������� γE×B 	�	
�� %	��� 
�����	�	�, ���
� ��������
����� ��$	 �� ���������� ���%������� 	�	
�� 
�	 ��� 
 ������� ���� ��	 $	�� ���	�	��
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06�	�� (��	� �
������ ��$	 ��	 ���	 ��� �	��	�����	 �����	�� �	����� a/LT i ������������ ��	
��������
	 �� �" ���%��������� �� ��	�	 ������������ 
��� �� ����� �� #���	 9; ��	�	 ��	
��� 	��	���	���� ������ ��	 �� ��� �� 	�
� ���	�, ��	� �����	� ������� a/LT i�  � ���� ���� �	
���� �		 ��	 	��	
�	� ��	�� ���� ��	 ���%��	�� ���$	 a/LT i�  ��		� ��	� a/LT i �� ��
�	��	�
��� ��	 ���� β� 
 
��	 �� �� ��	 ����� �� 	��	���	���� ��
	�������	� ��	 ���	��	� �	��
(��	� ��	 ����� �� ���	 �	������
 $���	�� ���	$	�, ��
������ γE×B 	�	
�� ����� �	����� �� �

����	�	 ���%��������� �� ��	 ���%��	�
	 ��� 
���	 �� E	�� �	�� (��	�� -������ γE×B 	�	
��
�
��$	 ��	 ���	��	� �	�� (��	� ��	 ����� �� ������ ��	 ����'��� �
����� ��	� $������ ��	
���� ���%	��

B���������	��, ��	 ����������� �	�����	� ��� ���� ��%��
����� �	���� ��
��
����$	 ���� �	�
��	
� �� ��	 ������	 ����� 
��� �� %	
���	 �	 ��� ��� �
��	$	 � 
��	 ���� �	������
 �	��
(��	�, ����	 ��$��� ��	 �����
� �
��$	 ���
� 
�� ���	������� �������
	 � ���� �	�	��	�
	�

�	 �	�����$��� �����	� 	��	
�	� �� %	 �	
	����� ��� � ��%��� 
��
������ ����� �	*���	 $����
������ �� β�, a/LT i, ωtor, ������ ��� ���������� ������ ��E	 ���
� ����� �� %	���� ��	
�
��	 �� ���� ��%��
������ .�
� � ����� ���� ��$	 �� %	 ��	�	��	� �� � �����	 ��%��
������

�& "
�	���
�� �# 	��� �������
��

���	���	������ �	 
�� 
�	���� ����������� ��	 �	�� ��������� ����	���	� %	��		� ��	 �	����
��� ���� βN ���	� �!"� �����	 �������� +� �	���� βN �	 #�� T� = T� �	����	 ����	�
��� �	����� ���
� �� 
���	� %� χ� > χ�� 
��� �� �

������	� %� � �	����$	�� ��� �	�����
�	����� �� 4��� 
��� �� �%�	�$	� ��������� �� � ��� 
 ������� ���� ���
�	� �	�	����
�����	�	�� ��� 
������	�� ���� ��	 � ��� � 
���������� ���	��� �	����	� �� 3495� +�
����	� βN ��	 ��� ��� 	�	
���� �	�� ������$���	� ��	 ���	 ������� χ� ∼ χ� �$	� ���� �� ��	
������, 
���	*�	����, ��	 ����	� ��� �	����� %� F' �	����� �� T� > T� �� ��	 ���	 ���	 ��	
�	����� �	����� ��
�	��	� �� 4�9� 
��� �� ������ �%�	�$	� ��� ���� �	�����	� ��� ��	� ��� �
��� 
 ����	� +� ���	� �	�����	�, ���
� 
���� ��� %	 �

	��	� �� 
, � ������� ��	 ����� ����
χ� > χ� 	$	� �� ����	� βN ��� ������� �	�	���� ��	����	� ���� 
 ������� �� ����	� �	������

-	 #�� ���� �
 ��� 
 ������� 
�� ��$	 ����	� 
��	 
��#�	�	�� ���	 ���� ��	�� � ���
� 
����	������ �� ������� �	�	���� 	�	���	�� +�������, ���� 
���� ����	�� �� ������	 ����
�	�	��	�
	 �� ��	 
��	 ���������, �	 
�� �	�����
	 ��	 ���	�	�
	 *���������$	�� ���� ��	
�����.+
� ��������� ���	�� -	 �%�	�$	 �	$������� %	��		� �����.+
� ��� ��	 	��
�	���	��, ���
� ���� %	 ���
���	� %	���, ���	$	�, ��	�	 �	$������� ��	 ��	 ���	 ��� �, �,
�
 ��� 
 ���� �	 
����� ���	� � ���� �	�	��	�
	 ��� ��	�� �����.+
� �� %��	� �� �
����'��� ���� �	�	��	�
	 ��� ��	��� Wth,core ∝ A−0.156 ��	� ������ ��	 	*�����������
���� �

����� 
��� �� 	��
��� ��	 ���� �	�	��	�
	 �� 
��	 
��#�	�	�� �� �%�	�$	� �� ���	� 
�!"� �����	� �� ��	 ��
 �
�4 
������� 3A5, ��	�	 τcore ∝ A−0.16 ��� �	����	��

)�	 ��
��� 
�����%����� �� ��	 �����	�� ���� �	�	��	�
	 �� ��	 
��	 
��#�	�	�� �� ��	
������ ����
� �� 
��	�	��	 
�������� + ����	� �	�	���� ��	����	 ���� �� �	�	��� �	���� ��
�� ��
�	��	� 
��	 	�	��� ��	 �� ���#�	 �����	��� +�����������, � ����	� �	�	���� �	�����
�� 
������� ��	����	 ��� ��	�	���	 � ���	� �	��	�����	 ���� �	��
	 ��	 ����'��� ��
���
�� ��	 
��	 ��� ����� ��� � ����	� ���%��	�� ���$	, ��	� �	��	�����	 �����	���, �� 
�������
�	�� (��	� �� "-� 
��� �����	������� �� ��� �	
	������� $���� ��� ������� ���� �	����	�
���
� ���	� ��	 
��	 ��������� ��
����, ���	 ���	���� ��������� %����	��  
'� �� "�� ���	��
F��	 ���� ��	 	��	���	���� 	��	 ���� �	�	��	�
	 �� �� ����� �� ��	 
��	 ����������� ����
�����.+
� � .� �� �� �� �������	 ���� �����.+
� 
�� �	�����
	 ��	 �����	
� ����
�	�	��	�
	 �%�	�$	� �� ��	 
��	 �� �	���

.� ��	 ��
� ���� 
 ����	� ��	 �	�	����� ����� �� ����	� �	�	���� �	�����	� ���� � ��� �
������� �� ���
���	� �� �	
���� ; ���� ���	
��� ����
� ��	 
��	 �	�������
	 �� �	��� +� ����
βN ���� �� 
��#��	� %� 
���������� ���� ���
�	� ��� ���	�	�� �	�����	�� 
�	 � ������
���� ���	� n %�� ������� T� ��� T� ��� �����#
����� ����	� χ� ���� ��� 
 ��� � 
����	�����
�� ����	� �	������ 
�	 %	�	#
��� ����
� �%�	�$	� �� ����	� �	����� �� �������	� %� ���	��
���� ����������� ���
� #�� ���	� ������ ���	� �� ����	� �	�����	�, ����	 ��	 ��(�	�
	 �� ��	
���� ���%	� �� 
������%�� ������ B���������	��, ��	 ��$	��������� ���� �������	�� ����
����������� �� ��	 ��
�� ������������� ��	�	 ��
��
����$	� 
�	 ����������� ����	�� � ������
����
� �� ��	 �" ���%��������� �� ��	 ���%��	�� �	�� (��	�, ���
� ����� %	 �� ����������
�	
������ ��	�	 � ���� �	�	���� ��	����	 ����� ���$	 %	�	#
��� ��� 
��	 
��#�	�	�� ��



0� �	��� ���	$	�, ��	 ���	��	� �%�����	 �	�� (��	� ��	 �� ��� ���� ��	 	��	���	���� $���	�
���� ��	�� �	�	$��
	 �	����� *�	������%�	� + �	�����$��� ����� �� �
�� ��	 	��	���	����
������ ������ ��	�� ��
	�������	� �� �	*���	� �� �����$	 ��	 �����#
��
	 �� ��	 �	������


�	 ����	����
 �	$������� �%�	�$	� %	��		� �����.+
� ��� ��	 	��	���	��, 
����� %	
�	���$	� %� �������
��� �� ���������� ���� �	�	��	�
	 �� ��	 
��	 ��������� ���	�� +

��$	��	�� 	���������� ����� %	 ��	 ������� �" ���%��������� �� �����.+
� , ���
�

���� %	 �	������%�	 ��� ��	 �$	�	��������� �� ��������� �� ���� βN� ��� ����	 ������� ��	
���� ����������� ���������	� ��	 ��������
	 �� �" ���%���������� ���	$	�, �	 ���� #��
�$	�	������	� ��������� �� $	�� ��� βN� -���	 ��	 
���� ����	 ���� ��	�	 ������� ��	
*���	 ���	�	�� ���� ��	 ���� ����%��	, �� ��	� ��$	 $	�� ��� �	����� ���	� 6��� �%�$	 ��	
!� ���	� ���	�����, ��	�	 �� �����	� �����	�	� ��	�	 ��	 �	$������ ��� ��� ��� ���� βN
������� 
��� �� ��	 �	�� (�� �� ����'��� ����� Qtot/QgB� ��� ��� Qtot/QgB ��	 ���������
�� �$	�	������	� %� �����.+
� ����	 ��� ��	��
���� �� �

����	 ��� ����	� Qtot/QgB� 
���
��	� ����
��	 ���� 
���	 �� ��	 ���	����� �� ���%��	�� ��������� ��	 ���	� 
����� 
�����	
��	 �����
� ��� ���	� �����.+
� ��	��
�� χ� > χ� ��� ������� ���� χ� ∼ χ� ���
�
����	��� � �	���� ��� ��	 ���
�	���
� 
���� ��������	 �� ��	 ��� �	�� ��������� 
����	��
+�����������, �����.+
� ��	��
�� � 
����	 �� ��	 �	����� �	����� ���� ��� ���� ���
�
�� ��� �%�	�$	� �� ��
� �� 	��	�� �� ��� ���� �	�� 
�	 �	����	� �	����� �	����� �� ������
������� ��� ���	�	�� ������	�, %�� ��
�	��	� ���� ������ ��	����	� 
�	 �	���� βN ����	�
��$	 � �	����� �	����� �� ∼ 1.2 ���
� �� ��	��
�	� �	�� %� �����.+
� , ��	 ���� βN ����	�
��$	 � ������	� �	����� �	����� �� ∼ 1.5 ����	 ��	 ��	��
���� ��� ����	 ������� ����� �����
%� �%��� �?G�

-	 �� �		� �� ��� � ���
����	� �� ��	 ����	�	�� �	������� ��	 �%�	�
	 �� �� ������	 ����
�	�	��	�
	 �� ��	 
��	 ���������� -���	 �� �� ���	 ��� ��	 ���	� �!"� �����	� ��� ��	
�	����$	�� ���	 �����	�	� �
�� �	 ��$	������	� �	�	, �� ����� 
����	 ��	� ���	� �����
�
�	
������� %	
��	 ���������� )�	 ��
� 	�	
� ���
� �� �	�� ����� �� ��	 ���%��	�
	
���%��������� %� ���� ���� ��� ��	 �������� 
���	�� ���	� $���	� ���� ������	 ���� 34@5�  �
�����
����, �� ��	 ��	�	�
	 �� � �����#
��� α �����
�	 ���������� �� �� ���	�� ��� �	�����%�	�
���	$	�, ��� ��	 ���� �	� ���
���	� �	�	 ��	 �������� 
���	�� �� �	����$	�� ��� ≤ 20G ���
����� �� ����	����
 
���	������ ���� ��	 ���� ��� ���� �� ��	 ������� -���	 �	 �� 	��	
�
����	� �������� 
���	�� ��	 �� 
 �	����� %	�� ��6	
����, ��	 
 ������� ��	 ����� �� ����	�
�	�����	� ��� 
���	*�	���� ���	� �	��	�����	� ���
� �������	� ��	 ���	�	�
	 ��	 �� ��	
���� �� ��	 �������� ������� �����

�� '������

-	 ��	�	��	� ��	 �	����� �� � ���		 ������	 �
�� �, �, 
 �� ���	� �!"� �����	 ���� $����
��� ��� ��	�����, ������������� ��� � ���	� $�������� ���� �	����	� �� �������E	� ��	����	�
βN = 1.0 . . . 3.0� 
��� ���� �� 
����	�	��	� %� ��
 ������	 ������� ���� ��	 ���	 �	�����
��� ���� ����� $��������� �� ��	 ����� ��� ��	������ ��� ���� ���� �	� �	 ��$	������	� ��	
�	�	���� 
����
�	�����
� ��� ��	 
��	 ����������  � ��	 �������� �	 ��
�� �� ���� �� ���$��	
�	����
����� �� ��	��	��
�� ���	�� %��	� �� ��� 	��	���	���� #�������

 � ��	 �	�	���� ��	 ���� ����� � ������ ���� �	�	��	�
	 ���
� 
����	� ���� ��� ��	������
!�� δ � ������� ����	 �	�	���� ��	����	 ���� ��� ��	����� ����	 ��� ������� �� �	�	����
��� �	������ � ������� ���� ����	 �	�	���� ��	����	 ���� ��� ��	����� ����	 ��	 �	�	���� ���
�	����� �������� ��
�	��	�� ����	� ��� ��	����� �� 
 ������� ��
�	��	� ��	 �	����� �� 
�������
��	����	� <���	*�	����, �	 �%�	�$	 ���	�	�� ������	 ���� �
������ ��� ��	 �	�	���� �	�����
�	�	����� �� ��	 ��� ��	����� �	$	�� 
��� �������� ����	��� ���� � ���� �
����� �� ���	�� ����
$���� ��� ��	 �����	�	� ����	 �� ��� �	��$	� ��� �������������� �� �����
������ �� ���	�	��
������ �
	������ �		� �� %	 ���
���	� ���� ���� �� �����


� ���	������ ��	 ���	����� �� ��	 ���	�	�� �����
� �� ��	 �	�	���� �	 �	$	���	� �� 	�����
��
���	� %��	� �� γE×B ���%��	�
	 ���������� ��� �	������
 �	����� �	�	������� ���� ��	
������ �� �������	 �!" 
�
�	��  � ���� ���	� � ����	� �	�������� �	����� ��	 �� ��
�	��	�
��� ��	����� ���	
��� �	����� �� �	��
	� �	�	���� ��	����	� ���	$	�, ���� ����� %	 ��	 ���	
��� ��� ������	 ����	�� 
�	�	���	, ���	�	�
	� �� ��	 ��	����� 	7
�	�
� ���� ��	 ������	 ����
����� %	 �	
	����� �� �	�����
	 ��	 �%�	�$������ �� ����	� �	�����	� �� 
� -��� ������

�!" 
�
�	� �� %	
��	� 
�	�� ���� ��� ����	��	��� ��	 �	*���	� �� �	�����
	 ��	 �%�	�$������1



0.� ���� �	�	��	�
	 �� ��	 �!" ���%����� ��� � �	�������� �� �	�� ��� �����
�	 ���������
���
� �	�	��� �� ��	 ������	 ����� + ���� �	�	��	�
	 ���
� �
�� 	*����� �� ��	 �	��
��� �����
�	 ��������� 
����	� ����� ��� 
����	 ��	 �	�	���� �	����� �� �	��	�����	 �����
���
� �� �%�	�$	� �� 	��	���	�� ���� 
������� ���� ���%	�� .�
� � ���� �	�	��	�
	 ��
��	 ��������� ����� ���� 
����	 ��	 �!" ��	*�	�
�� +� �%�	�$	� %	���	 ��	 ����	� �!"
��	*�	�
�	� 
���	���	 ���� �	��
	� 
��#�	�	�� �� ��� ���� �	�� )�� ������
 �!" 
�
�	
���	����� ����	��� ���� ����	� �!" ��	*�	�
�	� ����� ��� %	 ��	 
���	 ��� ��	 �	��
	�

��#�	�	��, %�� ��	 ������� 
���	*�	�
	 �� � ���	 �����%�	 �	�	����� -��� � ��	��
��$	
�!" 
�
�	 ���	� ��	 
���� ���	������� 	����
� 
��
��� ����������� ��� �� ��	 �	�	����
������
�� 
��� ����� �	*���	 �� ���	����	� ��	���	�� �� �	�	���� ���%����� ���� � �	������

��������� ���	��


�	 
��	 ������ �
��	� ���� ��	 �	�	����� + ����	� �	�	���� ��	����	 ���	
��� �����$	� ��	

��	 
��#�	�	�� �� ���	� �!"� �����	�� 
 ������� ��	 �%�	�$	� ���� � ���*�	 �	�	����

���������� �� ���� �	�����	� ��� ���� ���	���	�� �	��
	� �	��	�����	�� + 
���	*�	�
	
�� ���� ������� ���� 
 
�� ���� �� �����$	� 
��	 
��#�	�	�� 	$	� ��� ������� �	�	����
��	����	� �� � ��� � �������� 
��� 
��	�	��	 
������� �� �	�����
	� �� (�� ���$	� �����
.+
� �����������, ��	� ��	 �	����	� �	�	���� �� �	� �� ��	 %������� 
��������� 
���
�	��� ���� ������ %���
 �����
� �	
������� �		� �� %	 ���������� ���� 
�������� +�������,
������ ��� 	��	���	���� ��
	�������	� �	 
����� 	�
���	 ���� ��	�	 ����� %	 �� ����������
���� �	�	��	�
	 �� ��	 �	�� ��� �����
�	 ��������� ��	 ���	����� ����	��� �� �� ��� 
��
���
�� 	������ ��	 �%�	�$������� F��	 ���� �� ���� 
���	�� �� ���� �	�	��	�
	 ����� �	��� �
�	$������ ���� ��	 ���	 ����'��� �
������ C�$	� ��	 ���������� �� ���	� ��� �
������
��
������ ��	 ���� ��� ����, �	 ���� �� ���	�� ���� � �
�����, ���
� ��	� ��� �	�����	

��	 ��� �	�	���� �����	�	�� ��� ��
���	� �	�	���� �����	�	�� �� ��	 �
����� ��� ��	 
��	
����	���	�, 
����� %	 	��	
�	� �� ��	�� ���� �	����� ��	� ��	� ��� 	��������������

<������	�� ���� ���	� �����	� �� *���	� �� �	
���� 4 ��� ����	 ��� ��	 ���� �	�������
	
��%��� ��� %��	���	 ���
����	� 3@>, A�5, �	 
��
���	 ���� ���� $������ ���� ��� ����	� ��	
���	�	�
	� �� %���
 �����	�	�� ��
� �� �	�	���� ��	����	, �	�	���� �	����� �� �������� 
���	��

�� 	������ ��	 %��� �� 
����	� �� ��	 
��	 
��#�	�	��� -�	� ���������� ��	�	 ���	�	�
	�
%	��		� ������� ���� $������ ������	 ���� ���� ��	 ���	�	�
	� �� 
��	 
��#�	�	�� �	��
	�
.�
� �� 	���������� ��	� ��� ���� ��� ��	 �	�	����� 
� 	������ ��	 �%�	�$������ �� ��	
�	�	����, �	 �	*���	 �� 	����
�� ���� �	�	��	�
	 �� ��	 �!" ���%����� ��� ���	�	�� ����
�	�	��	�
�	� �� �	�� ��� �����
�	 ���������� 
�	 ����	� 
���� %	 ��	 �� ���	�	�� ����	���	�
�� ��	 ���������� ��������� ���
	��	� �� ��	 �� � ���� �	�	��	�
	 �� ��	 �����
�	 ����
	��


�	 �����
������ ���� ���� ���� ��� ����	� ��
���	� ���	  
�D ��	 ��	 ���������� 
�	
%������ �� ��	 �	�	���� �	����� ��� ��	 �����
�	 ��������� ��� ����
	� ��$	 �����#
���
����
� �� ��	 ����	 ������ ��� 
����	 ����	� �������� ���� ������	 ����� ���	$	�, ��
�� ��� ���	
��� 
�	�� ��� ���� ��������	� ��  
�D ��	�	 ��	 .)! �� 	��	
�	� �� %	 ���*�	
�	����� ���� ��	 ��$	���� ��� �	�	���� ������ %	
��	 �	
����	� ���
� �� ��� ��	 
��	 ��
��	�	�� ��� �	$�
	� 3A@,A&5�  � ��	 
��	 �� ��	 ������ �	 	��	
� �	�	� �������	�, ��	 ���������
�� �%�	�$	� ������� ������ ���� �	�	��	�
	 ��	� ���	� ��(�	�
	� ��	 �������	�� )�	 ��
��	 ����	 �� ��	 ��� ��������� ���	�� ��	� ��� ��	��
���� �����	 ������ �	$�
	� �����.+
�
��	� � ���� 6�% �� ��	��
� ��	 ������	 ���� �	�	��	�
	 �� �	�� ��� �����
�	 ���������� 
�	
���	� ��	� ���� %� 
�������� ��������� 	�	
�� ���
� ��	 �����	
��� 
���	
�	� ���� � 
����	
�� ����, %�� �� ��� �	���� ���� �� 	����
�� �	�	��	�
	 �� ��������� �� ��	 ������	 �����  �
��� �����	� ��	�	 �����	
� 	�	
�� ��	 �������
	� %� ��	 %������� 
��������� �����.+
�
�$	� ��	��
�� ��	 ��������� �� ��	 �	���	 �� ��� ����'��� �	�� (��	� ���
� �� � �	���	
���� �	�	$��� ��� ������ ������� ��	 �� ��	�� ���� �	��	�����	�� !��	� ��������� �� ��	
�	�� ������ �� �� �	�	��� � ������$	 �%�	�$�����, ����� �� �	�$	� ���	 ��
	�������	� �	�������
��	 �����
�%����� �� ���� ���	� �� ��
� �	���	�� )�	 ��������� ���	�	�
	 �� ������ �	$�
	�
���� %	 ��	 ���� �������� ���������� �� ��	 ���� �� α �����
�	�, ����	 ����
� �����.+
�

����� �	�
��%	 �� ��	 ���	��� ���	$	�, �� ��� ������� ���� ���� ����	� � ����� ���	,
��	�	���	, �	 
����� 
�����%��	 �� ���� *�	������ ��
 �����	 ������� ���� ����	� ������
���	� ��� α �����
�	 ���������� ��	 �	����	� �� 3@>, A95�  � ��������,  
�D 
����� ��$	
���	� �!"�, ��	�	���	, ��$	���������� �� ��	 ������	 ���� �	�	��	�
	 ��� �	�	����� ���� ��
�� ����� �!"� ��	 �	*���	�, ���
� ��� ��� ��$	������	� �	�	�

���	���	���� �����	� �	������� ������	 �����
� ��$	 ��	 ��7
���� �� 
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